Hydraulic Swing Clamp

Model LHA model LT/LG
Model LHC Model TLA'Z
Model LHS Model TLA-1
Mmodel LHW  moder TLB-2

High Rigidity * Long Life « High Accuracy

High Speed - High Rigidity < Swing Completion Position Repeatability +0.5° (=0.75° only for LHS)

285

Action Description

np np np

Before Swing The lever descends as it swings. After swing completion, Action completed
(Released State) (For LHS, the lever swings parallel.) it descends vertically. (Clamped State)

Application Examples

R

&/

£ s

For the applications which require Deburring
clamp position repeatability

Cleaning Press Fitting



Swing Clamp
Digest

Compact Swing Clamp

Many Varieties
For General Purpose x‘

Model L H C

Compact swing clamps for small footprint fixtures
designed with minimum required stroke.

46.5 mm

33mm

Harmony in Innovation

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Hole Clamp
SFA
SFC

Swing Clamp
H
HC
LHS

H

Compact body with minimum
required lock stroke for specific
Compact applications and limited spaces.

LT/LG
TLA-2
TLB-2
TLA-1

< Comparison Model > < New Model >

LHA0400-C[] LHC0400-C[]

Lock Stroke : 8mm Lock Stroke : 6mm

Air Sensing Swing Clamp

Model L HW

Clamp-unclamp confirmation with built-in air catch sensor
for smaller footprint fixtures.

Unclamp Confirmation Valve

Clamp Confirmation Valve

I [ o

79.5 nm

For Action g

= —=Sk--ooo- ==
46.5 mm

Same Size

33 mm Compact

Confirmation

LHA0400-C[IM

< Comparison Model > < Air Sensing Model >
LHA0400-C[J LHWO0401-CLIE
No Action Confirmation Ability to confirm

Ability to confirm
clamp and unclamp action

clamp and unclamp action

High-Power Swing Clamp Hydraulic Double Action

Model L H E

2 sizes smaller with equivalent clamping force. Mechanical lock and
hydraulic pressure allow for strong clamping and holding force.
Refer to P. 13 for further information.

Link Clamp
LKA
LKC
LKW
LM/LJ
TMA-2
TMA-1

Work Support
LD
LC
TNC
TC

Air Sensing

Lift Cylinder
LLW

Compact Cylinder

LL

LLR
LLU
DP
DR
DS

DT

Block Cylinder
DBA
DBC

Control Valve
BZL
BZT
BZX/)ZG

Pallet Clamp
VS
VT

Expansion

Locating Pin
VL
VM
\2
VK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

286



287

Swing Clamp

Low Pressure Model

MAX. 7MPa

Model LHA — P.289

Model LHC - P.319

Model LHS — P.331

Classification

Operating Pressure Range

Double Action

1.5~7MPa

Double Action
Compact

Double Action
Parallel Swing Action

1.5~7MPa

Standard Model

External Dimensions — P.297

External Dimensions — P ,327

External Dimensions — P.339

Action Confirmation

Double End Rod

C
X Able to External Dimensions — P,299 - *
Option for Dog Install Dog
Air Sensing - —
Manifold Option E [: External Dimensions — P.301 *
A‘Ir .SenSIng Able to Install External Dimensions — P.303 - *
Piping Option Air Sensor

Built-in Sensing Valve Model

Option

Quick Cha.nge 5? @ B Bimansans = 2305 * External Dimensions —> P.341
Lever Option &
Balance Lever Optlon L’A—i- External Dimensions — P.307 * External Dimensions —> P.343
. — \‘l Long
Long Stroke Option =gt External Dimensions — P.309 = *
. e
SWIng Angle @ ‘6‘5 External Dimensions — P.313 * External Dimensions —> P.345

Selectable Option

Accessories

Lever LZH-T. LZH-F. LZH-B LZH-T LZH-T. LZH-F. LZH-B
— P.318 - P.330 — P.348
Manifold Block LZY-MD
— P.1025
Speed Control Valve BZL. BZX. JZG
Plug - P.727

% Please contact us for detail dimension at % part.

High Pressure Model

MAX. 35MPa

Model TLA'2 — P.387

Model TLB-2 = p 413

Model TLA'1 — P.431

Classification

Operating Pressure Range

Double Action
Top Flange

Double Action
Bottom Flange

Single Action (Spring Release)
Top Flange

Standard Model

External Dimensions — P.395

External Dimensions — P.421

External Dimensions — P, 439

Option

Balance Lever Option

External Dimensions — P, 399

External Dimensions — P 423

| Lon
Long Stroke Option %

External Dimensions — P 403

External Dimensions — P 425

Swing Angle

30°
45°
60°

Selectable Option

External Dimensions — P .407

External Dimensions — P 427

Accessories

TLZ-L2, TLZ-LB

TLZ-L2, TLZ-LB

TLZ-L2, TLZ-LB

Lever - P.412 — P.429 — P.443
Speed Control Valve

BZT. JZG
Plug - P.727
G-Thread Fitting G-Thread Fitting (Made by Ihara Science) P 1030




Swing Clamp
Digest

Low Pressure Model

MAX. 7MPa

Model LHW — P.349

Model LT/LG — P.367

Classification

Operating Pressure Range

Double Action
Built-in Sensing Valve

1.5~7MPa

Single Action
(Spring Release)

2.5~7MPa

Standard Model

External Dimensions — P, 375

c Double End Rod C . _
2 Option for Dog ﬁ s
© : -
£ Air Sensing _ _
c.g Manifold Option E[
o . .
et Alr senSIng. Able to Install — =
5 Piping Option Air Sensor
< Built-in Sensing Valve Model External Dimensions — P.359 -
QUiCk Cha.nge é é Y External Dimensions = P.377
Lever Option &
g Balance Lever Optlon * External Dimensions —> P.379
a . J\l Long
o Long Stroke Option &g~ — -
Swing Angle 1 ® o P 381
Selectable Option 60° * frtemald '
LZH-T LZ-LE1, LZ-LE2
|_ N
k4 e - P.366| LZH-F. LZH-B — p.384
<
a Manifold Block — LZ-MS
v - P.1026
v
< Speed Control Valve BZL. BZX. JZG
Plug - P.727

Harmony in Innovation

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others
Hole Clamp

SFA
SFC

Swing Clamp

HC

LT/LG
TLA-2
TLB-2
TLA-1

Link Clamp
LKA
LKC
LKW
LM/LJ
TMA-2
TMA-1

Work Support
LD
LC
TNC
TC

Air Sensing

Lift Cylinder
LLW

Compact Cylinder
LL
LLR
LLU
DP
DR
DS
DT

Block Cylinder
DBA
DBC

Control Valve
BZL
BZT
BZX/JZG

Pallet Clamp
VS

High-Power Swing Clamp Hydraulic Double Action

Model LHE

2 sizes smaller with equivalent clamping force. Mechanical lock and

hydraulic pressure allow for strong clamping and holding force.

Refer to P. 13 for further information.

VT
Expansion
Locating Pin

VL

VM

V)

VK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

288



Double Action Swing Clamp model LHA

PAT

Hydraulic Double Action
Swing Clamp
model LHA

Low Pressure (1.5~7MPa)
High Power « High Speed « Compact Clamp

© Index

Hydraulic Swing Clamp Digest P.285
Cross Section P.290
Model No. Indication P.291
Specifications P.292

Performance Curve

Clamping Force Curve P.293

Allowable Swing Time Graph P.295

External Dimensions

+ Standard Model (LHA) P.297
+ Double End Rod Option for Dog (LHA-D) P.299
« Air Sensing Manifold Option (LHA-M) P.301
+ Air Sensing Piping Option (LHA-N) P.303
+ Quick Change Lever Option (LHA-F) P.305
+ Balance Lever Option (LHA-P) P.307
+ Long Stroke Option (LHA-QLJ) P.309
+ Swing Angle Selectable Option (LHA-YL) P.313
Air Sensing Option P.315
Lever Design Dimensions P.317

Accessories

+ Material Swing Lever for LHA P.318

+ Speed Control Valve+Plug (Common Items of Other Models) —— P.727

+ Manifold Block (Common Items of Other Models) P.1025
Cautions

+ Notes for Hydraulic Swing Clamps P.445

+ Cautions (Common) P.1043

* Installation Notes  + Hydraulic Fluid List  + Notes on Hydraulic Cylinder Speed Control Circuit
+ Notes on Handling * Maintenance/Inspection * Warranty

289



Swing Clamp
Digest Cross Section| Specifications Curve

Index Model No. Indication | Performance|  External

Air Sensing |Lever Design . Cautions
. . . Accessories
Dimensions Option

Dimensions P.445

@ Cross Section Taper Sleeve
Swing Lever
Dust Seal T

Excellent Coolant Resistance

BZL Speed Control Valve
(Sold Separately)

Piston Rod

- High Efficiency
Long Guide Ratio

High Speed
® Able to Use Longer Levers

The long guide ratio allows for longer clamping levers by supporting the rod.
The guide is located between the flange and at the edge of the rod.

Ability to use longer levers

High Speed and High Endurance with Rotation Mechanism

Cam Shaft
(Piston Rod)

The resistance created by the swing action is minimized by having
. . Lead Groove
the outer race rotates in accordance with the steel ball movement.
High endurance is achieved by enlarging rod diameter which decreases Outer Race
torque and by using bigger steel balls and making the lead groove.

(Position repeatability for swing is within £0.5°.)
Steel Ball

Excellent Coolant Resistance

Rotation Mechanism

e
Y

Our exclusive dust seal is designed to protect against high pressure coolant.
It also has high durability against chlorine-based coolant by using a sealing

material with excellent chemical resistance.

Easy Fabrication of Swing Lever (Taper sleeve is standard accessory)

*°

Easy Lever Chan

As taper sleeve is standard accessory, tapering process

while manufacturing clamp lever is eliminated.

Supplied lever sleeve incorporates taper simplifying clamping lever design.
Quick change lever option that is available as option is easy to attach

Cross Section of

and detach the lever with one wrench. (Refer to the drawing on the right.) Mounting Area

Quick Change Lever Option

Able to Attach Speed Control Valve Directly

When fitting the gasket (-C option), it is able to attach the speed control valve
with air venting function. (Speed control valve is sold separately.)

Corresponding to Long Lever

Harmony in Innovation

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Hole Clamp
SFA
SFC

LHA
LHC
LHS
LHW
LT/LG
TLA-2
TLB-2
TLA-1

Link Clamp
LKA
LKC
LKW
LM/LJ
TMA-2
TMA-1

Work Support
LD
LC
TNC
TC

Air Sensing

Lift Cylinder
LLW

Compact Cylinder

LL

LLR
LLU
DP
DR
DS

DT

Block Cylinder
DBA
DBC

Control Valve
BZL
BZT
BZX/JZG

Pallet Clamp
VS
VT

Expansion

Locating Pin
VL
VM
V)
VK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

290



291

Double Action Swing Clamp

@ Model No. Indication

i

LHA 048

.

0 BH EBEEHBH 4

model LHA

Kl Body Size
036 : ¢ D=36mm 065 : ¢ D=65mm
040 : ¢ D=40mm 075 : ¢D=75mm
048 : ¢ D=48mm 090 : ¢ D=90mm
055 : ¢ D=55mm 105 : ¢ D=105mm #D
% Outer diameter (¢ D) of the cylinder.
Design No.
0 : Revision Number
Piping Method
C : Gasket Option (With G Thread Plug) C G S
i — i I
G : Gasket Option (With R Thread Plug) E
S : Piping Option (Rc Thread Port) =]
3 Speed control valve (BZL) is sold separately. Gasket Option Piping Option
Refer to P.727. With G Thread Plug | With R Thread Plug Rc Thread Port
Able to attach No Gasket Port

[] Swing Direction when Clamping

speed control valve

R : Clockwise

L : Counter-Clockwise

Action Confirmation Method

Swing Direction
when Clamping

Swing Direction
when Clamping

Blank : None (Standard) D M

D . Double End Rod Option for Dog

M . Air Sensing Manifold Option

NI : Air Sensing Piping Option
(N: Standatd Air Sensor Port Phase . . Al sensor port phase i
NC/NL/NR : Refer to external dimensions for air sensor port phase) selectable from 4 directions.

(Refer to External Dimensions.)
A Option

Blank : None(Standard:Taper Lock Lever Option) F P YO

F . Quick Change Lever Option

P : Balance Lever Option

QU > Long Stroke Option (I stands for vertical stroke value)

(Refer to External Dimensions)

YO : Swing Angle Selectable Option
(Y30 :30°/Y45:45°/Y60 : 60°)

% Please contact us when action check method have a combination with option.



Swing Clamp Index Model No. Indication | Performance |  External Air Sensing |Lever Design ) Cautions
Digest Cross Section | Specifications Curve Dimensions Option Dimensions Accessories P.445 K.SMEK

Harmony in Innovation

© Specifications S
Model No. LHA0360 LHA0400 LHA0480 LHA0550 Pneumatic Series
Cylinder Area for Locking cm? 3.54 5.00 6.95 10.3

' [ Blarnk/F/QC)/YD selected - P (1-0.0021XL) - P (1-0.0016XL) = P (1-0.0009%XL) e P (1-0.0011XL)
Clamping Force 2.9379+0.0052 XL 2.0920+0.0040XL 1.4892+0.0018 XL 1.0039+0.0011XL
(tonfomuia 1| Fi= (2/L9X0354xP | Fi=(L2/LIX05XP | Fi=(L/L9X0695xP | Fi=(L2/L)x103xP  jade T mer
kN F2=(L1/L3)X0.354XP F2= (L1/L3)X0.5XP F2=(L1/L3)X0.695XP F2=(L1/L3)X1.03XP
Full Stroke mm 135 145 155 18.5 lanual Operation
Swing Stroke (90°) mm 55 6.5 7.5 8.5
I3 Blank/F/P Vertical Stroke mm 8 8 8 10 Cautions / Others
selected Swing Angle Accuracy 90° £3°
Swing Completion Position Repeatability +0.5° Hole Clamp
Option Q15/Q20Q25/Q30|Q35| Q15 Q20| Q25| Q30 Q35| Q40| Q15| Q20| Q25| Q30 | Q35 Q40|Q15|Q20[Q25[Q30 Q35 Q40 Q5[ Q50  —gpp
Full Stroke mm|20.5(25.5| 33 | 38 | 43 [21.5/26.5/34.5(39.5|445(495|225(275| 36 | 41 | 46 | 51 |235/285(335| 42 | 47| 52| 57 | 62 SFC
Swing Stroke (90°) mm| 5555 8 | 8 | 8 |65/65/95(95/95[95| 75751 |10 10| 10|85 8585 22| n|n
A QO selected .
Vertical Stroke mm| 15 | 20 | 25 | 30 | 35 | 15[ 20| 25 | 30 | 35|40 [ 1520 | 25|30 | 35 | 40 | 15] 2025 30|35 |40 45|50 9 P
Swing Angle Accuracy 90° £3° IPF
Swing Completion Position Repeatability $05° HS
Option Y30 Y45 Y60 Y30 Y45 Y60 Y30 Y45 Y60 Y30 Y45 Y60 LHW
Full Stroke mm| 109 11.5 12.2 11.5 12.3 13 12.1 13 13.8 14.7 15.6 16.6 LT/LG
[ Y0 selecteq | SWing Stroke mm| 29 | 35 | 42 | 35 | 43 5 41 5 58 | 47 | 56 | 66 %
Vertical Stroke mm| 8 8 8 8 8 8 8 8 8 10 10 10 A
Swing Angle Accuracy 30° +3° [45°£3° 160°£3° (30°£3° [45° +3° |60° +£3° |30° £3° |45°£3° |60° £3° [30°£3° |45 +3° |60° +3°
Swing Completion Position Repeatability +0.5° Link Clamp
Max. Operating Pressure MPa 7 LKA
Min. Operating Pressure*2 MPa 1.5 LKC
Withstanding Pressure MPa 10.5 trl;\yu
Operating Temperature C 0~70 IMA2
Usable Fluid General Hydraulic Oil Equivalent to ISO-VG-32 CTMAST
Work Support
Model No. LHA0650 LHA0750 LHA0900 LHA1050 -
Cylinder Area for Locking cm? 134 203 29.5 41.3 E
. [ Blank/F/QC)/YC selected - P (1-0.0009XL) - P (1-0.0007XL) - P (1-0.0009XL) = P (1-0.0008XL) Tc
Clamping Force 0.7822+0.0010XL 0.5175+0.0006 XL 0.35474+0.0004 XL 0.2495+0.0002 XL Air Sensing
(letonfomil 1| = o Fi= (L2/L3)X134XP | Fi=(L2/L3)X2.03XP | Fi=(L2/L3)x295%P | Fi=(L2/L3)x413xp UMt CY'&”L‘\‘NE’
kN F2=(L1/L3)X1.34XP F2= (L1/L3)X2.03XP F2= (L1/L3)X2.95XP F2= (L1/L3)X4.13XP
Full Stroke mm 20 24 26 32 Compact Cylinder
Swing Stroke (90°) mm 10 12 14 16 T
I Blank/F/P Vertical Stroke mm 10 12 12 16 LLR
selected Swing Angle Accuracy 90° £3° LLU
Swing Completion Position Repeatability +0.5° gg
Option Q15]Q20{Q25/Q30/Q35/Q40/Q45/Q50{ Q20| Q25 | Q30| Q35 | Q40| Q45| Q50 | Q20| Q25 | Q30| Q35| Q40| Q45| Q50| Q25| Q30| Q35 Q40| Q45|Q50 DS
Full Stroke mm | 25|30 35|40 |50 {5560 (65|32 |37 |4 | 47|55 |60 65|34]39|44|49|57|62|67|41|46]|51 |56 |61 |66 DT
@ QO selected Swing Stroke (90° ) mm 10101010 1515 IS PSR 12 s IS 7T 716 16| 16| 16 | 16 | 16 Slock Cylnder
Vertical Stroke mm | 15120 (2530|3540 [45(50 20| 25|30|35|40|45(50[20(25|3035]4 |45|50|25/30|35|40|4|50 —— —
Swing Angle Accuracy 90° £3° %
Swing Completion Position Repeatability +0.5°
Option Y30 Y45 Y60 Y30 Y45 Y60 Y30 Y45 Y60 Y30 Y45 Y60 Control Valve
Full Stroke mm| 15.3 16.5 17.6 18.7 20 21.3 19.9 214 | 229 248 | 266 | 284 BZL
[ YO selected Swing Stroke mm| 53 6.5 7.6 6.7 8 9.3 79 9.4 10.9 8.8 10.6 124 g(T
Vertical Stroke mm/| 10 10 10 12 12 12 12 12 12 16 16 16 —
Swing Angle Accuracy 30°43° [45°43° [60°£3° [30° +3° [45° 43 [60°43° [30°£3° [45° 43" [60° +3° [30°43° [45°%3° [60°E3 bt Clamp
Swing Completion Position Repeatability $0.5° VS
Max. Operating Pressure MPa 7 VT
Min. Operating Pressure*2 MPa 1.5 Expansion
Withstanding Pressure MPa 10.5 Locat"\‘/gLPm
Operating Temperature C 0~70 M
Usable Fluid General Hydraulic Oil Equivalent to ISO-VG-32 V)
Notes %1. F,F1,F2: Clamping Force (kN) P : Supply Hydraulic Pressure (MPa) v
L,L1,L2 : Distance between the piston center and the clamping point (mm) L3 : (mm). L3 pull Stud Clamp
%2. Minimum pressure to operate the clamp with no load. L L L T
1. Please see the external dimension if you need the information = c$ FQ
of mass and cylinder volume. Customized
F F1 F2 Spring Cylinder

DWA/DWB

292



Double Action Swing Clamp

@© Clamping Force Curve

model LHA

% LHACJO-CICICI-P : For balance lever option, the clamping force curve is different
from the graph. Please calculate it with the specification's formula.

L : Lever Length (mm)

P Hydraulic Pressure (MPa) ==

F : Clamping Force (kN

Applicable Model Blank
D
M

N

Blank
F
QLU
yO

Clr
LHATO- Gll,
S
Body Size
)

(Example) When using LHA0480

é Option

Blank/F/Q1/Y]
selected

Supply Hydraulic Pressure 5.0 MPa, Lever Length L=50 mm

Clamping force is about 3.1 kN.

; 3 %1 2.5 =1 Cylinder Force
LHA0360 | | Gampgfoeiionfomia 1 (k) F = P(1-0.0021XL) / (29379+0.0052xL) |
Hydraulic |Cylinder Force! Clamping Force (kN) Non-Usable Range(l)| Max. Lever y - % L=30(s=10)
Pressure kN) ] LeverlengthL(mm) Length (L) 2 7 / L=50(s=30)
(MPa) L=30 | L=40 | L=50 | L=60 | L=80 |L=100|L=120/L=150| (mm) — S /
7 2.48 22 [ 21 ] 20 | 19 | 1.8 | % =3 L=100(s=80)
6.5 2.30 200 191 19 [ 18 [ 17 ] Y 15 ~ - -
6 213 1.9 1.8 1.7 1.7 1.5 E . 5
55 195 | 17 | 16 | 16 | 15 | 14 | 13 | 12 | 11 | 150 =S L=150(s=130)
5 1.77 1.6 1.5 14 14 1.3 1.2 1.1 1.0 150 g_ 1
4.5 1.59 14 1.4 13 13 12 1.1 1.0 09 150 IS
4 1.42 13 1.2 1.2 1.1 1.0 1.0 0.9 0.8 150 )
35 124 11| 11| 10 | 10| 09 | 08 | 08 | 07 | 150 © Non-Usable Range()
3 1.06 1.0 0.9 0.9 0.9 0.8 0.7 0.7 0.6 150 0.5
2.5 0.89 0.8 0.8 0.7 0.7 0.7 0.6 0.6 0.5 150
2 0.71 0.7 0.6 0.6 0.6 0.5 0.5 0.5 0.4 150
15 0.53 0.5 0.5 0.5 0.4 0.4 0.4 0.4 0.3 150 0
Max. Operating Pressure (MPa) | 7.0 | 70 | 70 | 70 | 70 | 69 | 63 | 56 0 1 2 3 4 5 6 7
Supply Hydraulic Pressure (MPa)
: 35 — Cylinder Force
LHA0400 ‘ ‘ClampingForce(alculationFormula‘>'<1 (kN) F=P(1-0.0016XL) / (2.0920+0.0040XL) ‘ e
Hydraulic [Cylinder Force Clamping Force (kN)  Non-Usable Range() Max. Lever 3 % L=40(s=17.5)
Pressure (kN) Lever Length L (mm) Length (L) 7 L=60(s=37.5)
(MPa) L=40 | L=50 | L=60 | L=70 | L=80 |L=100|L=120|L=150| (mm) =~ 25 /. :
7 3.50 3.0 29 2.8 2.7 2.6 24 22 B 124 g /// L=100(s=77.5)
6.5 3.25 27 | 27 | 26 | 25 | 24 | 22 | 21 [N 144 g /
6 3.00 25 | 25| 24 23 22 21 [ 19| 17 [ 17 5 2 4 L=150(s=127.5)
5.5 2.75 23 23 2.2 2.1 2.0 1.9 1.8 1.6 210 \;
5 2.50 2.1 2.1 2.0 1.9 1.9 1.7 1.6 1.5 210 %_ 15 /
4.5 2.25 19 19 1.8 1.7 1.7 1.6 1.5 13 210 I3
4 2.00 1.7 1.7 1.6 1.5 1.5 14 13 12 210 ’—J 1
35 1.75 15 [ 14 [ 14 [ 14 13 [ 12 | 1.0 | 10 [ 210 Non-Uszble Renge( )
3 1.50 13 1.2 1.2 1.2 1.1 1.1 1.0 0.9 210 %
25 1.25 1.1 1.0 1.0 1.0 0.9 0.9 0.8 0.8 210 0.5 Z~
2 1.00 0.9 0.8 0.8 0.8 0.8 0.7 0.7 0.6 210
1.5 0.75 0.7 0.6 0.6 0.6 0.6 0.6 0.5 0.5 210 0
Max. Operating Pressure (MPa) | 7.0 7.0 7.0 7.0 7.0 7.0 7.0 6.4 0 1 2 3 4 5 6 7
Supply Hydraulic Pressure (MPa)
5 .
LHA0480 | | GampgfoeGiionfomia 1 (kN) F = P(1-0.0009XL) / 14892+0.0018XL) | ] ylinder Force
Hydraulic (Cylinder Force Clamping Force (kN)  Non-Usable Range(M) Max. Lever /’,/ L=50(s=24.5)
Pressure (kN) Lever Length L (mm) Length (L) 4 e 7 1=80(s=54.5)
(MPa) L=50 | L=60 | L=80 |L=100|L=120|L=140|L=160 L=200| (mm) = L / L=140(s=114.5)
7 4.87 43 | 42 [ 40 [ 39 | 37 | 36 [ 141 Z é ToeE
6.5 452 40 | 39 | 37 [ 36 | 34 | 33 [N g 3 A S L=200(s=174.5)
6 417 37 | 36 | 35| 33| 32| 31| 2 s ) /
5.5 3.82 34 33 32 3.0 29 28 2.7 2.5 204 “c',, /’
5 3.48 3.1 3.0 29 238 2.7 2.6 25 23 230 g_ 2 A
4.5 3.13 28 2.7 2.6 25 24 23 22 2.0 230 IS 7 v
4 278 25 | 24 | 23 22| 21 21| 20| 18| 230 = / Non-Uszble Range( )
35 243 2.2 2.1 20 2.0 19 1.8 1.7 1.6 230 Y
3 2.09 19 1.8 1.7 1.7 1.6 1.6 1.5 1.4 230 1
25 1.74 1.6 1.5 1.5 14 14 1.3 1.2 1.2 230
2 1.39 13 1.2 1.2 1.1 1.1 1.0 1.0 0.9 230
1.5 1.04 1.0 0.9 0.9 0.9 0.8 0.8 0.8 0.7 230 0
Max. Operating Pressure (MPa) | 7.0 | 70 | 70 | 70 | 70 | 70 | 66 | 57 0 1 2 3 4 5 6 7
Supply Hydraulic Pressure (MPa)
8
LHAO0550 ‘ ‘ClampingForce(alculanonFormuIa'>~<1 (kN) F=P(1-0.0011XL) /(1.0039+0.0011XL) ‘ Cylinder Force
Hydraulic |Cylinder Force Clamping Force (kN) Non-Usable Range(M), Max. Lever 7 e
Pressure (kN) Lever Length L (mm) Length (L) -~ y L=50(s=20)
(MPa) L=50 | L=60 | L=80 | L=100|L=120|L=140L=160 | L=. (mm) — 6 L=80(s=50)
7 7.21 63 | 62 | 59 | 56 | 54 | 52 142 =3 L=140(s=110)
6.5 6.69 58 | 57| 55| 52 | 50 | 48 |mmmm g 5 ==
6 6.18 54 53 5.1 4.8 4.6 44 . 5 e L=200(s=170)
55 5.66 50 | 48 | 46 | 44 | 42 | 41 | 39 | 36 | 209 L4 v/
5 5.15 4.5 44 4.2 4.0 39 3.7 35 32 245 g_ &
4.5 4.63 4.1 4.0 38 36 35 33 32 29 245 IS 3 ~
4 4.12 3.6 35 3.4 32 3.1 3.0 2.8 26 245 'U“ /
35 3.60 32 3.1 3.0 28 2.7 2.6 25 23 245 2
3 3.09 27 | 27 | 26 | 24 | 23 | 22 | 21| 20| 245 Non-Usable Range()
2.5 2.57 23 22 2.1 2.0 2.0 19 1.8 1.6 245 1
2 2.06 1.8 1.8 1.7 1.6 1.6 1.5 14 13 245
1.5 1.54 14 14 13 1.2 1.2 1.1 1.1 1.0 245 0
Max. Operating Pressure (MPa) | 7.0 | 70 | 70 | 70 | 70 | 70 | 64 | 56 0 1 2 3 4 5 6 7

293

Supply Hydraulic Pressure (MPa)



Swing Clamp Index Model No. Indication | Performance| External Air Sensing |Lever Design . Cautions
Digest Cross Section | Specifications Curve Dimensions Option Dimensions Accessories P.445 K.SMEK

Harmony in Innovation

High-Power
Series

Pneumatic Series

Notes
1. Tables and graphs shown are the relationships between the clamping force (kN) and supply hydraulic pressure (MPa). Hvdraulic Seri
K X i ydraulic Series
2. Cylinder output (when L=0) cannot be calculated from the calculation formula of clamping force.
3. There may be no lever swing action with large inertia depending on supply hydraulic pressure or lever mounting position. Valve / Coupler
4. The clamping force is shown with lever in the locked position. Hydraulic Unit
5. The clamping force varies as per the lever length. Use the hydraulic supply pressure suitable to the lever length. e @
6. Operation in the non-usable range can damage the clamp and lead to fluid leakage. Accessories
7. The tables and graphs are only for reference. The exact results should be calculated based on the formula in the specification column.
1. F : Clamping Force (kN), P : Supply Hydraulic Pressure (MPa) , L : Lever Length (mm). Cautiona O ers
. 10
LHAO650 | | GapigforeCicionfumda 1 (kN) F = P(1-0.0009XL) / (0.782240.0010XL) | 0 ] Cylinder Force ~ Hole Clamp
Hydraulic |Cylinder Force Clamping Force (kN) Non-Usable Range(M) Max. Lever ,/ L=50(s=15) SPAL
Pressure kn)y ] LeverLengthL (mMmm) Length (L) 8 % =oUs= SFC
(MPa) L=50 [ L=60 [ L=80 [L=100]L=120L=140[L=160[L=200| (mm) = 7 A | A =80(s=45)
7 9.35 81 | 79 | 76 | 7.3 | 115 =3 AF /7 L=140(s=105)
65 868 75 [ 73 [ 70 | 67 | 6 T 6 pay /4 L=200(s=165)
6 802 | 69 | 68 | 65 | 62 5 ¥ 7 RLHA RENEE.
55 7.35 64 | 62 | 60 | 57 5 S e P LHC
5 6.68 58 | 57 | 54 | 52 y £ Yy LHS
45 6.01 52 [ 51 | 49| 47 [ 45| 43 | 41| 38 | 221 IS 7 ~ LHW
4 534 46 | 45 | 44 [ 42 | 40 | 38 | 37 | 34| 260 & 3 . /A,/A Non-Usable Range(H) e
35 4.68 41 | 40 | 38| 37 | 35| 34 | 32 | 30 | 260 P /// g
3 401 3503433313029 28] 25| 260 2 v TLA-2
25 334 29 29 2.7 2.6 2.5 24 23 2.1 260 / TLB-2
2 2,67 23 [ 23 [ 22 21 [ 20 19 ] 19 | 17 | 260 1 TLA-1
15 2.00 18 17 [ 17 [ 16| 15| 15[ 14 [ 13 [ 260 0 —
Max. Operating Pressure (MPa) | 7.0 7.0 7.0 7.0 6.8 | 6.1 56 | 48 0 1 2 3 4 5 6 7 Link 1
n am
Supply Hydraulic Pressure (MPa) +
. LKC
LHAO750 | | Canogfuceitionfoms 1 (kN)F =P(1-0.0007XL) / (05175+0.0006 L) | 14 A Cinder Force W
Hydraulic |Cylinder Force Clamping Force (kN) Non-Usable Range(M)| Max. Lever /// L=50(s=10) LM/L)
Pressure (kN) Lever Length L (mm) Length (L) 12 ) /] 1=80(s=40) TMA-2
(MPa) =50 | L=60 | L=80 [L=100]L=120[L=140L=160|L=200| (mm) = # / 140(— TMALT
7 14.21 124 1122 [11.7 [11.3 [109 [ 105 147 Z 10 AL L=140(s=100) JIMAT
65 1309 [115 (113 (109 [105 [102 [ 98| 95 163 g A4 = 20006=160
6 12.18 106 | 104 | 10.1 9.7 9.4 9.0 8.7 184 S 8 &/ / Work Support
5.5 11.16 97 | 96 | 92 | 89 | 86 | 83 | 80 | 75 | 209 < / Z 1w
5 10.15 89 | 87 | 84 | 81 | 78 | 75| 73 | 68 | 244 £ oy % e
[SHE) LC
4.5 9.13 8.0 7.8 7.6 7.3 7.0 6.8 6.6 6.1 280 I3 / / _
4 8.12 71 | 70 | 67 | 65| 63 | 60 | 58 | 54 | 280 & TNC
35 7.10 62 | 61 | 59 | 57 | 55| 53| 51 | 48 | 280 4 % Nor-Usable Range() TC
3 6.09 53 52| 51| 49 | 47 | 45 | 44 | 41 280 / ) )
25 507 45 | 44 | 42 | 41 | 39 | 38 | 37 | 34 | 280 2 piroensing
2 4.06 36 | 35 [ 34333230/ 29| 27| 28 LiftCylinder
15 3.04 27 [ 26 | 25| 25 | 24 [ 23 [ 22| 21 280 0 LLW
Max. Operating Pressure (MPa) | 7.0 7.0 7.0 7.0 7.0 7.0 6.9 5.9 0 1 2 3 4 5 6 7
Supply Hydraulic Pressure (MPa) Compact Cylinder
LL
LHAQ900 | | Ganggfucelionumia 1 (kN) F = P(1-0.0009XL) / (0.3547+0.0004L) | % Cylinder Force LLR
Hydraulic (Cylinder Force Clamping Force (kN)  Non-Usable Range(M) Max. Lever ,// e
Pressure (kN) Lever Length L (mm) Length (L) Y / L=60(s=12.5) b
(MPa) L=60 | L=75 |L=100|L=120|L=140|L=170|L=200 L=250| (mm) ~ 16 T s L=100(s=52.5) DR
7 20.62 175 [17.0 | 162 [ 156 | 149 | 141 | 133 [ 245 =3 v L=170(s=122.5) DS
6.5 19.15 163 | 158 [ 150 [ 144 [139 [13.1 [123 [11.1 292 g ¢ / =1/0s=122. oT
6 17.68 150 | 146 | 139 | 133 | 128 | 121 | 114 [ 103 | 330 5 12 7 1=250(s=202.5) E—
5.5 16.20 13.8 | 134 | 127 122 | 11.7 | 111 | 104 9.4 330 o
5 14.73 125 1122 [ 116 [ 110 [107 [101 | 95 | 86 | 330 £ / Block Cylinder
45 13.26 113 [ 110 (104 [100 | 96 | 91 | 85 | 77 | 330 s 3 DBA
4 1178|100 | 97 | 93 | 89 | 86 | 81 | 76 | 69 | 330 & Non-Uszble Range( ) oec
35 10.31 8.8 8.5 8.1 7.8 7.5 7.1 6.6 6.0 330 B —
3 8.84 751 731 70| 67| 64 | 61| 57 | 52| 330 4
25 7.37 63 | 61 | 58 | 56 | 54 | 51 | 48 | 43 330 Control Valve
2 5.89 5.0 4.9 4.7 4.5 43 4.1 3.8 35 330 BZL
1.5 4.42 3.8 37 35 34 32 3.1 29 2.6 330 0 BT
Max. Operating Pressure (MPa) | 7.0 | 70 | 70 | 70 | 70 | 70 | 70 | 68 0 1 2 3 4 5 6 7 Terze
Supply Hydraulic Pressure (MPa) .
- 30 . Pallet Clamp
LHA1050 ‘ ‘ CampingForce CelcuionFormula 7 (kN) -~ F = P(1-0,0008 XL) /' (0.2495+0.0002 X L) ‘ & Cylinder Force e
Hydraulic |Cylinder Force Clamping Force (kN) Non-Usable Range(l) Max. Lever 25 / L=80(s=25) T
Pressure (kN) Lever Length L (mm) Length (L) S L=120(s=65) -
(MPa) L=80 [L=100]L=120|L=140[L=170 [ L=200] L=250 [ L=300| (mm) = Expansion
7 2890 | 247 239 [232 [224 214 204 w219 £ 2 A L=200(s=145) ~ Locating Pin
6.5 2683 | 230 [222 [21.5 (208 [199 | 189 NN 249 Y / / e L
6 2477|212 | 205 [199 |192 | 183 |175 | 161 | 148 | 288 5 L=300(s=245) VM
5.5 2270 194 188 182 [17.6 [ 168 [ 160 | 147 | 136 | 342 o 15 v
5 20.64 17.7 [17.1 1166 [ 160 | 153 [ 146 | 134 [123 380 £ _—
45 1858 | 159 | 154 | 149 | 144 | 138 |13.1 | 121 | 111 | 380 g e
4 1651 141 1137 133 [128 [122 [117 [ 107 | 99 | 380 & 10
35 1445 124 120 | 116 | 11.2 [107 [102 | 94 | 86 | 380 Non-Usable Range(B)  pjj stud Clamp
3 1238 106 | 103 | 10.0 9.6 9.2 8.8 8.1 7.4 380 5 e
25 1032 8.9 8.6 83 8.0 7.7 73 6.7 6.2 380 _
2 8.26 71 | 69 | 67 | 64 | 61 | 59 | 54 | 50 | 380 FQ
15 6.19 53 52 | 50| 48 | 46 | 44 | 41 | 37 | 380 0 Customized
Max. Operating Pressure (MPa) | 7.0 | 7.0 | 70 | 70 | 70 | 70 | 64 | 58 0 1 2 3 4 5 6 7 Spring Cylinder
Supply Hydraulic Pressure (MPa) DWA/DWB

294



295

Double

©Al

Action Swing Clamp model LHA

lowable Swing Time Graph

Adjustment of Swing Time

90° Swing
) . . ) ’ (Swing Stroke) Full Stroke
The graph shows allowable swing time against lever inertia moment. (Total Operation Time)
Please make sure that an operation time is more than the operation (Vertical Stroke)
time shown in the graph.

Exce
and

ssive action speed can reduce stopping accuracy
damage internal parts.

LHAO360 | Allowable Locking Time (sec) LHAO0400 | Allowable Locking Time (sec) LHA0480 | Allowable Locking Time (sec)

0 02 04 06 08 10 12 14 16 0 02 04 06 08 10 12 14 16 0 02 04 06 08 10 12 14 16
0.005 0.010 7 0.020
) | ] TIr] T 11/
N 90° Swin ~ 90° Swin / ~ 90° Swin
€ 0.004 & - € 0.008 2 e € 0016 I
> 4 o ’ > 0
< /| = 7 = g
é 0003 / ‘é 0.006 ,,’ ‘é 0012 >
/ / /
S / s Full Stroke g / J Full Stroke g L/ Full Stroke
o 0.002 ;4 « 0.004 7 = 0.008 / /‘
é 2l yid E *1 i E ¥1 Vi
- / 4 = /’ = / ,
v 0.001 A o 0.002 7 v 0.004 T
g - % ® & )
) I/ ) ”, - ,/
o L2 1 o L2 ! o L2 r
0 01 02 03 04 05 06 0.7 08 0 01 02 03 04 05 06 07 08 0 01 02 03 04 05 06 07 08
Allowable Releasing Time (sec) Allowable Releasing Time (sec) Allowable Releasing Time (sec)

LHAO550 | Allowable Locking Time (sec) LHAQ650 | Allowable Locking Time (sec) LHAOQ750 | Allowable Locking Time (sec)

0 02 04 06 08 10 12 14 16 0 02 04 06 08 10 12 14 16 0 02 04 06 08 10 12 14 16
0.030 T 7 0.08 7 0.12 ‘ ‘ 7
/ 90° Swing /! 007 o / 90° Swin 4
S 0025 S . 90° Swing 7 < 010 9 4
£ 7 £ £ p
. Y, <006 /' . 4
2 / 2 ’ 2 4
= 0.020 v = 4 = 008 7
P = 005 7 € /
: / : g : /
5 0015 ’ 5 o0s S 5 006 ;
= 4/ Full Stroke = / s Full Stroke = , Fullstroke
2 ool . £ 003 # £ ’
g O 7 g L7 o 0.04 L7
= 1 ~ 002 / - . ’
& 0005 a 2 &l -~ 2 oo o
3" - 3 o001 / o g - -
%2 g o 2 r o 2
0 01 02 03 04 05 06 0.7 08 0 01 02 03 04 05 06 07 08 0 01 02 03 04 05 06 07 08
Allowable Releasing Time (sec) Allowable Releasing Time (sec) Allowable Releasing Time (sec)

LHAQ900 | Allowable Locking Time (sec) LHA1050 | Allowable Locking Time (sec)

0 02 04 06 08 10 12 14 16 0 02 04 06 08 10 12 14 16
0.20 ‘ 0.30 ‘ ‘

/!
~ - ~ 90° Swing ’
o 90° Swing ’ N
£ 016 y L 025 / y
o / o ’
= /| < 020 /

g 012 T 5 ’
5 5 o015 /]
= /l Full Stroke s =i / 4
= 008 ; 2 ¢ Full Stroke
£ 51 / ’ 5 010 i
< : A < ’
= P = i
s 004 [ S o005 L2
— 5 o} -,
td Ld
o L2 1 o L2 r
0 01 02 03 04 05 06 07 08 0 01 02 03 04 05 06 07 08
Allowable Releasing Time (sec) Allowable Releasing Time (sec)
Notes
% 1. It shows the inertia moment with material lever (LZHO-T).
#2.

Now

For any lever inertia moment, minimum 90° swing time should be 0.2 sec for locking and 0.1 sec for releasing or more.

. In the case of LHA-Q long stroke option, the full action time should be calculated as per the calculation formula.

(90° swing time is shown in the graph.)

. The graph shows the action time tolerance in regard to the lever inertia moment when the clamp piston is operating at constant speed.
. There may be no lever swing action with large inertia depending on supply hydraulic pressure, oil flow and lever mounting position.
. For speed adjustment of clamp lever, please use meter-out flow control valve.

In case of meter-in control, the clamp lever may be accelerated by its own weight during swinging motion (clamp mounted
horizontally) or the piston rod may be moving too fast. Please refer to P.1044 for speed control of the hydraulic cylinder.

. Excessive swing speed can reduce stopping accuracy and damage the internal parts.
. Please contact us if operational conditions differ from those shown on the graphs.



Swing Clamp Index Model No. Indication | Performance| External Air Sensing |Lever Design . Cautions
Digest Cross Section | Specifications Curve Dimensions Option Dimensions Accessories P.445 K.SMEK

Harmony in Innovation

High-Power
Series

HMOdEI LHA0480 | Allowable Locking Time (sec) Eneumaticeries

0020 002 04 06 08 10 12 14 16
; ; : 'y AG / Hydraulic Series
(How to read the allowable swing time graph) .® A © // ydraulicSert

When using LHA0480 0.016
Lever Inertia Moment : 0.0068kg - m?

/ Valve / Coupler
Hydraulic Unit

7\
#---
S

<

0.012

Manual Operation

= Full Stroke (Reference) | acCessOnES

®90° Swing Time when Locking  : About 0.44 sec or more

290° Swing Time when Releasing : About 0.22 sec or more 0.008

0.0068|= = = = «

[]
I ]
)
)
4

(3Total Lock Operation Time : About 0.9 sec or more Cautions / Others

By L T

0.004 /

A

Lever Inertia Moment (kg *+ m2)

\
oot

@Total Release Operation Time  : About 0.45 sec or more

<
&

v
1. The total operation time on the graph represents the allowable 0 Y2 Hole Clamp
0 01 02 03 04 05 06 07 08 SFA

Allowable Releasing Time (sec) SFC

Swing Clamp

operation time when fully stroked.

How to calculate inertia moment (Estimated) LHW
LT/LG

TLA-2

I ‘Inertia Moment (kg-m?2) L,Li,L2,K b:Length (m) m,m1,m2,ms3:Mass (kg) TLB-2
TLA-1

Link Clamp
@ For a rectangular plate (cuboid), @ For arectangular plate (cuboid), 3 Load is applied on the lever front end. LKA

the rotating shaft is vertically on the rotating shaft is vertically on LKC

one side of the plate. the gravity center of the plate. tAK,,V)/U

TMA-2
TMA-1

Work Support
LD
LC
TNC
TC

Air Sensing
Lift Cylinder

L22+b?
- LLW

: 4124h2

2 2
+m2 411°+b
12 12

: 41.24p2

5 41124 b?
12 12 12

I=m +m +m3K2+ms3

I=m

Compact Cylinder

LL

LLR
LLU
DP
DR
DS

DT

Calculation Formula of Total Operation Time

Block Cylinder
DBA
DBC

o o . Full Stroke (mm)
Total Lock Operation Time (sec) =90° Swing Time when Locking (sec) X - Control Valve
Swing Stroke (mm) e
BZT
BZX/)ZG

ion Ti ° cwing Ti . Full Stroke (mm) PalletClamp
Total Release Operation Time (sec) = 90° Swing Time when Releasing (sec) X : oy
Swing Stroke  (mm) VT

Expansion
Locating Pin

VL

VM

V)

VK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

296



297

Double Action Swing Clamp standard Model

©External Dimensions
C : Gasket Option (With G Thread Plug)
%The drawing shows the released state of LHA-CR.

Release Port: G Thread *3 A

(Only for -C option:
Speed Control Valve Port)

H

L E—CY

®JB

/ \\\°3<
<

With BSPP Plug (2-G Thread)
(-C option only)
Lock Port: G Thread *3

(Only for -C option:
Speed Control Valve Port)

4-¢R

Spot Facing $Q

¢CC+8‘05 Slot for Lever Phasing *1

model LHA

@© Machining Dimensions of Mounting Area

A
|
@Hexagon Socket Y@/ RType
) \ Swing Direction

/ when Clamping

L Type

] %6
Release Port ¢ P *© %
°
>
=
>
>
Lock Port g P 6 @
K

4-EA Screw ¥4

Remove all burrs™®

6.35 %6 C0.6

Rtype (Ltype : 180° Reverse)

Nut (Included) ¢ AC X Screw
[aa]
= Hil &
= 3] T B
>2 \v7) =
=
Taper Sleeve (Included) S
= ¢ BB =
|
1571 %T{ﬁ
- © [‘ T i o
w
(N
¢D 8}

Lock Port : O-ring (Included)
(-C/-G option)

Nx

Release Port : O-ring (Included)
(-C/-G option)

Notes

% 1. The slot for determining the lever phase faces the port

side if locked.

% 2. Mounting bolts are not provided.Customer should
prepare based on dimension "S".

%3. Speed control valve is sold separately.Please prepare
using reference to P.727.

Notes

%4,

%5,

6.

‘ %5

EA tapping depth should be calculated so that mounting
bolts engage fixture by at least 1.5 x bolt diameter.

The ¢ D depth of the body mounting hole should be
decided from dimension F.

The machining dimension is for -C/-G : Gasket option.

©Piping Method

G:

Gasket Option (with R Thread Plug)

%The drawing shows the released state of LHA-GR.

2-R Thread Plug (Included)

max.2mm

S:

‘o

&ﬁ

Piping Option (Rc Thread)

*The drawing shows the released state of LHA-SR.

Release Port
Rc Thread

==

Lock Port
Rc Thread

;

T




Swing Clamp Index Model No. Indication | Performance| External Air Sensing |Lever Design . Cautions
Digest Cross Section | Specifications Curve Dimensions Option Dimensions Accessories P.445 K.SMEK

Harmony in Innovation

High-Power

@ Model No. Indication Series
(Format Example : LHA0550-CR, LHA0750-SL)

Pneumatic Series

Body Size
DESign NO.

- Valve / Coupler
Piping Method Hydraulic Unit

LHA 048 O -

|1 swing Direction when Clamping Manualloperation

Accessories

Action Confirmation (When blank is chosen)

CENONON®)
o X3

E Option (When blank is chosen) Cautions/ Others
Hole Clamp
SFA
SFC
@ External Dimensions and Machining Dimensions for Mounting (mm)
Model No. LHA0360-00 | LHA0400-C0 | LHA0480-00 | LHA0550-CC | LHA0650-000 | LHA0750-CC | LHA0900-CC | LHA1050-CC _He
Full Stroke 135 145 155 185 20 2% 2 2 o
Swing Stroke(90°) 55 6.5 7.5 8.5 10 12 14 16 e
Vertical Stroke 8 8 8 10 10 12 12 16 TLA-2
A 104 115 1285 145.5 156 181 203 240 _TB-2
B 49 54 61 69 81 ) 107 122 TLACT
C 40 45 51 60 70 80 95 110 ik Clamp
D 36 40 48 55 65 75 90 105 TS
E 64.5 715 79 89 94 109 120 144 LKC
F 39.5 46.5 51 59 63 71 74 88 _Lkw
Fu 64.5 68.5 775 86.5 93 110 129 152 e
G 25 25 28 30 31 38 46 56 A
H 29 315 355 39 46 52 59.5 67
J 20 225 255 30 35 40 475 55 Work Support
K 314 34 40 47 55 63 75 88 U
L 66 73 83 88 106 16 136 152 #;C
M 11 11 13 12 13 16 19 22 <
Nx 235 26 30 335 395 45 525 60 A sensing
Ny 8 9 11 12 15 16 185 225 Lift Cylinder
P 3 3 3 3 5 5 5 5 w
Q 7.5 9 9 11 11 14 175 20
Compact Cylinder
R 45 55 55 6.8 6.8 9 1 14 L
S 16 15 17.5 17 17 21 25 32 NI
T 15.5 16.5 17.5 205 22 26 28 34 LLU
u 15 18 22 25 30 355 45 55 o
v 13 15 18 21 2 30 37 43 ES
w 11 12 14 15 16 16 18 19 or
X (Nominal X Pitch) M14X1.5 M16X1.5 M20%1.5 M22X1.5 M27%1.5 M30X1.5 M39%1.5 M48X1.5
Y 5 6 8 8 10 10 14 14 Block Cylinder
Z (Chamfer) @) c3 a a3 ca 5 c6 c6 DA
AA 2 2% 30 32 41 46 55 65 DEC
AB 7 8 9 10 11 1 12 12 Control Valve
AC 245 265 33 355 45 50 60 71 ST
BA 14 16 19 22 25 31 38 44 BZT
BB 17 20 25 28 34 40 49 60 _Bzx/jz6
CA 6 7 9 10 125 14 185 23
Pallet Clamp
B 6.5 6.5 7.5 95 1.5 125 1.5 135 b
cc 4 4 5 6 6 8 8 10 IV S—
EA (Nominal X Pitch) M4X0.7 M5X0.8 M5X0.8 M6X1 M6X1 M8x1.25 MIOX15 | MI2X175 oo oo
JA 35 35 35 35 45 45 45 45 Locating Pin
JB 14 14 14 14 19 19 22 22 e
LockPort/ | -Coption|  G1/8 G1/8 G1/8 GI/8 GI/4 Gi/4 G3/8 G3/8 0
Release Port | -S option Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rc1/4 Rcl/4 Rc3/8 Rc3/8 vk
R-Thread Plug | -G option R1/8 R1/8 R1/8 R1/8 R1/4 R1/4 R3/8 R3/8
0O-ring (-C/-G option) 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 Pull Stud Clamp
Cylinder Capacity | Lock 4.8 7.3 10.8 19 26.7 48.7 76.6 1321 ;;7
cm?| Release 7.2 109 16.7 2811 40.9 725 1179 208.1 :
Mass ™’ kg 07 09 14 2 29 42 7.2 101 G er
Note %7. Mass of single swing clamp including taper sleeve and nut. _DWA/DWB

298



Double Action Swing Clamp Double End Rod Option for Dog model LHA-D

©External Dimensions @© Machining Dimensions of Mounting Area
: k ion (G Thread PI . *
C : Gasket Option (G Thread Plug) Release Port ¢ P 5 Nx?#5
%The drawing shows the released state of LHA-CRD.

;

. BN
Release Port: G Thread *3 JA B =z
(Only for -C option: H L H>
Speed Control Valve Port) N

T o D
‘ X" Rt
=@Hexagon Socket Y @ ype Lock Port ¢ P 5
/ \\\oé ¥ Swing Direction

/ when Clamping
@ L type

®JB

4-EA Screw 4

I
AA

Remove all burrs *° $D*Y3
With BSPP Plug (2-G Thread +¢R 55
it : ug (2-G Thread) Spot Facing $Q 6.35% C0.6
(-C option only) 005 M
. +o ing ¥1
Lock Port: G Thread *3 ';thC 0 T flOt f(.)r1l_8e0\ieF; Phasm)g :‘:
(Only for -C option: ype {Lhype- everse H
Speed Control Valve Port)
Nut (Included) ¢ AC X Screw
z :U: E]
S sl
— <
= g ) o Notes
Taper Sleeve (Included) S %4, EA tapping depth should.be calculated so that
- ®BB > mounting bolts engage fixture by at least 1.5 x bolt
1 diameter.
15° L_}‘T{S %5, This process indicates -C/-G: Gasket option.
< = i # e
w ¢D§)
L . .
A ©Piping Method
< | G : Gasket Option (with R Thread Plug)
%The drawing shows the released state of LHA-GRD.
8
£ max.2mm
§ 2-R Thread Plug (Included)
Z

Nx ) DE Screw

Lock Port : O-ring (Included)
(-C/-G option)

‘o

&ﬁ

S @ Piping Option (Rc Thread)
*The drawing shows the released state of LHA-SRD.

[IDF

Release Port
Rc Thread

Release Port : O-ring (Included)

(-C/-G option) gijij \

% 1. The slot for determining the lever phase faces the port Lock Port
A Rc Thread

side if locked.

% 2. Mounting bolts are not provided.Customer should
prepare based on dimension "S".

%3. Speed control valve is sold separately.Please prepare
using reference to P.727.

1. Please contact us if it has a combination with other

check method and option form.

;

T

Notes

‘©

299



Swing Clamp Index Model No. Indication | Performance| External Air Sensing |Lever Design . Cautions
Digest Cross Section | Specifications Curve Dimensions Option Dimensions Accessories P.445 K.SMEK

Harmony in Innovation

High-Power

@ Model No. Indication Gerie
(Format Example : LHA0550-CRD. LHA0750-SLD)

Pneumatic Series

Body size
DESign No.

. Valve / Coupler
D Piping Method Hydraulic Unit

LHA 048 O -

|1 swing Direction when Clamping Manualloperation

Accessories

CENONON®)
o X3

Action Confirmation (When D is chosen)
é . . Cautions / Others
E Option (When Blank is chosen)
Hole Clamp
SFA
SFC
LHA
@© External Dimensions and Machining Dimensions for Mounting (mm) LHC
Model No. LHA0360-0J0D | LHA0400-00D | LHA0480-LICD | LHA0550-C0D | LHA0650-C0D | LHA0750-0CD | LHA0900-00D | LHA1050-C0D ks
Full Stroke 13.5 14.5 15.5 18.5 20 24 26 32 _LAw
Swing Stroke(90°) 5.5 6.5 7.5 8.5 10 12 14 16 LT/LG
Vertical Stroke 8 8 8 10 10 12 12 16 TLA-2
A 114.5 128 141.5 158.5 169 194 216 253 TLB-2
B 49 54 61 69 81 92 107 122 TLA-1
C 40 45 51 60 70 80 95 110
D 36 40 48 55 65 75 90 105 Link Clamp
E 67 74.5 82 92 97 112 123 147 kA
F 42 49.5 54 62 66 74 77 91
Fu 64.5 68.5 775 86.5 93 110 129 152 LKC
G 25 25 28 30 31 38 46 56 _Lkw
H 29 315 35.5 39 46 52 59.5 67 L
J 20 225 25.5 30 35 40 475 55 TMA-2
K 314 34 40 47 55 63 75 88 TMA-1
L 66 73 83 88 106 116 136 152
M 1 11 13 12 13 16 19 22 Work Support
Nx 23.5 26 30 33,5 39.5 45 52.5 60 0
Ny 8 9 1 12 15 16 18.5 225 c
P 3 3 3 3 5 5 5 5 e
Q 75 9 9 1 11 14 175 20
R 45 55 55 6.8 6.8 9 1 14 S
S 16 15 175 17 17 21 25 32 Air Sensing
T 15.5 16.5 175 20.5 22 26 28 34 Lift Cylinder
U 15 18 22 25 30 355 45 55 LLW
v 13 15 18 21 24 30 37 43
W 11 12 14 15 16 16 18 19 Compact Cylinder
X (Nominal X Pitch) M14X1.5 M16X1.5 M20X1.5 M22x1.5 M27X1.5 M30x1.5 M39X1.5 M48%1.5 BT
Y 5 6 8 8 10 10 14 14 LR
Z(Chamfer) Q a a3 c3 C4 cs 6 c6
AA 22 24 30 32 41 46 55 65 LLU
AB 7 8 9 10 11 11 12 12 DP
AC 24.5 26.5 33 35.5 45 50 60 71 DR
BA 14 16 19 22 25 31 38 44 DS
BB 17 20 25 28 34 40 49 60 DT
CA 6 7 9 10 12.5 14 18.5 23
CB 6.5 6.5 7.5 95 115 12,5 1.5 13.5 Block Cylinder
cC 4 4 5 6 6 8 8 10 T oeA
DA 8 12 14 14 14 18 18 18 DBC
DB 8 10 10 10 10 10 10 10
DC 25 3 3 3 3 3 3 3
DD 25 29 36 36 43 50 65 80 Control Valve
DE (NominalXPitchxDepth) | M4X0.7X10 | M6xX1X15 | M8X1.25X18 | M8X1.25X18 | M8x1.25X18 | M10X1.5X21 | M10X1.5X21 | M10X1.5X21 BZL
DF 6 10 12 12 12 16 16 16 BZT
EA (Nominal X Pitch) M4x0.7 M5%0.8 M5%0.8 M6X1 M6X1 M8X1.25 M10X1.5 M12X1.75 BZX/JZG
JA 3.5 35 35 35 45 45 45 45
JB 14 14 14 14 19 19 22 22 Pallet Clamp
Lock Port / -C option G1/8 G1/8 G1/8 G1/8 Gl/4 G1/4 G3/8 G3/8 s
Release Port | -S option Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rc1/4 Rc1/4 Rc3/8 Rc3/8 VT
R-Thread Plug | -G option R1/8 R1/8 R1/8 R1/8 R1/4 R1/4 R3/8 R3/8
0-ring (-C/-G option) 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 Expansion
Cylinder Capacity | Lock 48 73 10.8 19 26.7 48.7 76.6 132.1 Locating Pin
cm?| Release 6.5 9.3 14.3 253 37.8 66.4 1.3 200 VL
Mass 6 kg 0.7 0.9 14 2 3 42 73 10.3 VM
Note %6. Mass of single swing clamp including taper sleeve and nut. z:(

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

300



Double Action Swing Clamp Air Sensing Manifold Option model LHA-M

@© External Dimensions © Machining Dimensions of Mounting Area
C : Gasket Option (G Thread Plug)
%The drawing shows the released state of LHA-CRM. Release Port ¢ P *7 Nx#7
Release Port: G Thread *3  JA B R
(Only for -C option: H ) =
Speed Control Valve Port) T ,»f\/ R
| ‘6/ z,
@Hexagon Socket Y @ R type
=] [ L] \ Lock Port ¢ P *7 O
s BN
ol X -2 | «|__ ¥ Swing Direction )
o L g k C()l < when Clamping 4-EA Screw *° 0K
@ Remove all burrs *7

Ltype —\
- %7
With BSPP Plug (2-G Thread) 4 6R 63557\ ' 06

Spot Facing ¢ Q
(-C option only) P 9 M
. +0.05 ing %1 i
Lock Port: G Thread *3 Ft:‘)tCC O(L fIOt f?r1;eéeé Phasm)g N m $D Y3
(Only for -C option: ype {Lype - everse fi %
Speed Control Valve Port) = o al «
° 20 MA =
Nut (Included) $AC X Screw gl ¥ o) @ MAws 2w
E 300 = m M
5] = © x
[aa]
= :[ ]: <I = % &o, 1
¥
= coI 1_ =S ii,rji
= . <
> o & o 3 o
= ] =X
Taper Sleeve (Included) 2 = _
o 6/0* Il 2-¢4~6
o | E—
€ E — Remove all burrs
< O o 15}
= v = dMC iAerent Port 4
Notes
w
4. The air vent port must be open to the atmosphere
o and kept free of coolant, chips or other debris.

- #D “02 %5. EA tapping depth should be calculated so that
mounting bolts engage fixture by at least 1.5 x bolt
diameter.

%6. The dimensions indicate those under the flange.
| | Release Confirmation 7. This process indicates -C/-G: Gasket option.
) Port (Air) .
g S;?I_Sggd) & Lock Confirmation @ Plplng Method
| Port (Ain) G : Gasket Option (with R Thread Plug)
*%The drawing shows the released state of LHA-GRM.

max.2mm

2-RThread Plug (Included)

Air Vent Port *4

Lock Port: O-ring (Included)
(-C/-G option)

)

>
=
J S : Piping Option (Rc Thread)
= *The drawing shows the released state of LHA-SRM.
Release Port
Release Port: O-ring (Included) = = Rc Thread
(-C/-G option) = é ... @
b — ]

Notes

#1. The slot for determining the lever phase faces the port +=E \%ﬁi
side if locked. Lock Port &

% 2. Mounting bolts are not provided. Customer should
) C wen Rc Thread
prepare based on dimension "S".
%3, Speed control valve is sold separately.Please prepare
using reference to P.727.
1. Please contact us if it has a combination with other
check method and option form .

Va

301



External
Dimensions

Cautions
P.445

Model No. Indication | Performance
Curve

Swing Clamp Index

Digest

Air Sensing |Lever Design

. . . Accessories
Option Dimensions

Harmony in Innovation

Cross Section | Specifications

High-Power
Series

@ Model No. Indication
(Format Example : LHA0550-CRM, LHA0750-SLM)

Pneumatic Series

Body Size
Hydraulic Series
Design No. -
— . Valve /Coupler
L H A O 4 8 O M Piping Method Hydraulic Unit

|71 Swing Direction when Clamping

Manual Operation
Accessories

Action Confirmation (When M is chosen)

CENONON®)
o X3

. . Cautions / Others
E Option (When Blank is chosen)
Hole Clamp
SFA
SFC
@ External Dimensions and Machining Dimensions for Mounting ()
Model No. LHA0360-00M | LHA0400-CI0M | LHA0480-00M | LHA0550-C0M | LHA0650-00M | LHA0750-00M | LHA0900-COM | LHA1050-00M LHC
Full Stroke 13.5 14.5 15.5 18.5 20 24 26 32 LHS
Swing Stroke(90°) 55 6.5 75 8.5 10 12 14 16 LHW
Vertical Stroke 8 8 8 10 10 12 12 16 LT/LG
A 104 15 1285 145.5 156 181 203 240 TLA-2
B 49 54 61 69 81 922 107 122 T2
C 40 45 51 60 70 80 95 110 LA
D 36 40 48 55 65 75 90 105
E 64.5 715 79 89 94 109 120 144 ik Clamp
F 39.5 46.5 51 59 63 71 74 88
Fu 64.5 68.5 775 86.5 93 110 129 152 LKA
G 25 25 28 30 31 38 46 56 LKC
H 29 31,5 355 39 46 52 59.5 67 LKw
J 20 225 255 30 35 40 475 55 LM/LJ
K 314 34 40 47 55 63 75 88 TMA-2
L 66 73 83 88 106 16 136 152 TMA-1
M 1 11 13 12 13 16 19 22
Nx 235 26 30 33,5 39.5 45 52,5 60 Work Support
Ny 8 9 1 12 15 16 18.5 2255 T
P 3 3 3 3 5 5 5 5
Q 7.5 9 9 11 11 14 175 20 LC
R 45 5.5 5.5 6.8 6.8 9 1 14 TNC
S 16 15 17.5 17 17 21 25 32 TC
T 15.5 16.5 175 20.5 22 26 28 34 Air Sensing
] 15 18 22 25 30 35.5 45 55 Lift Cylinder
v 13 15 18 21 24 30 37 43 LW
w 1 12 14 15 16 16 18 19
X_(Nominal X Pitch) M14X1.5 M16X1.5 M20X1.5 M22X1.5 M27X1.5 M30%1.5 M39x1.5 M48X 1.5 Compact Cylinder
Y 5 6 8 8 10 10 14 14 e
Z (Chamfer) Q a & C3 c4 s 6 6 LL
AA 22 24 30 32 4 46 55 65 LLR
AB 7 8 9 10 11 1 12 12 LLU
AC 245 26.5 33 355 45 50 60 71 DP
BA 14 16 19 22 25 31 38 44 DR
BB 17 20 25 28 34 40 49 60 DS
CA 6 7 9 10 12,5 14 18.5 23 DT
cB 6.5 6.5 7.5 9.5 1.5 12,5 1.5 135
‘CC 4 4 B) 6 6 8 8 10 Block Cylinder
EA (Nominal X Pitch) M4x0.7 M5%0.8 M5x0.8 M6X 1 M6xX1 M8x1.25 M10X1.5 M12X1.75 _—
MAf8 345 0% 38 0% 45735 457555 45055 53-5% 53588 53382 DBA
MAHS 34.5 7000 3813 457909 45790 45799 535046 53+30% 537004 DBC
MB 32 33 385 385 40.5 49 49 575
MC 35.7 39.2 46.2 46.2 46.2 54.2 54.2 54.2 Control Valve
MD 494 57.5 65.4 734 794 86.5 89.5 106.5 BZL
ME 62.4 70.5 789 86.9 929 106 109 126 BZT
MF 40 47 53 61 65 74 77 94 BZX/126G
MG 49 6 79 79 9.9 75 75 75 E—
MH 9 9 9 9 9 10 10 10 Pallet Clamp
MJ 4 4 45 45 45 95 95 95
MK 6.5 6.5 8 8 8 11 11 165 Vs
ML 734 81.5 914 99.4 105.4 122 125 147.5 T
MM 1.1 1.5 15 1.5 1.5 15 15 1.5 Expansion
JA 35 3.5 35 35 45 45 45 45 Locating Pin
JB 14 14 14 14 19 19 22 22 L
Lock Port/ -C option G1/8 G1/8 G1/8 G1/8 G1/4 Gl/4 G3/8 G3/8 VM
Release Port | -S option Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rcl/4 Rc1/4 Rc3/8 Rc3/8 V)
R-Thread Plug | -G option R1/8 R1/8 R1/8 R1/8 R1/4 R1/4 R3/8 R3/8 VK
0O-ring (-C/-G option) 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7
3-0-ring AS568-025(70) | AS568-028(70) | AS568-030(70) | AS568-030(70) | AS568-030(70) | AS568-032(70) | AS568-032(70) | AS568-032(70)
Cylinder Capacity | Lock 48 73 10.8 19 267 487 766 1321 PullStud Clamp
cm?| Release 6.5 9.3 14.3 253 378 66.4 111.3 200 FP
Mass #7 kg 0.8 1 1.6 2.2 3.1 45 76 10.6 FQ
Notes %8. Mass of single swing clamp including taper sleeve and nut. g;riitrfgmcizﬁi‘ri]der
1. Please refer to P.315 about air sensing chart DWA/DWE

302



Double Action Swing Clamp Air Sensing Piping Option model LHA-N

@ External Dimensions

C : Gasket Option (G Thread Plug)
*The drawing shows the released state of LHA-CRN.

© Machining Dimensions of Mounting Area

Nx:i6

Release Port ¢ P *6
Release Port: G Thread *3 JA B \ )
(Only for -C option: H ) o T
Speed Control Valve Port) T v R

Ny Ny

: Ne)
S @Hexagon Socket Y @/ Rtype ®

ol / \o lSwing Direction Lock Port ¢ P *©

when Clamping
@ L type

¢ JB

N

N

K

/|

0.05

AA

4-EA Screw *°

\
CA-

o Remove all burrs *6 #D*33
With BSPP.PIug (2-GThread) Spot Facing $Q ‘
(-C option only) 6.35%6 0.6
§ +0.05 H %1 »
Lock Port: G Thread *3 F?tCC 0 (L?Ot f(?r1l_£;e()\:eF: Phasm)g Il
(Only for -C option: ype tL-type - cverse “‘
Speed Control Valve Port) H
Nut (Included) ¢ AC X Screw
s ) -
Notes
§ Si T_m_ < % 4. The air venting port must be open to the
= E.j_ Y o atmosphere and kept free of coolant, chips or
= other debris.Install the screw to NG, take these
Taper Sleeve (Included) $BB 2 steps to prevent coolant seepage, etc directly.
| Be sure not to bClamp the air vent port.
150L }_,_}_\_;S % 5. EA tapping depth should be calculated so that
[—_ oU Ll mounting bolts engage fixture by at least
< |V L ] 1.5 x bolt diameter.
= W “ % 6. This process indicates -C/-G : Gasket option.
@© Piping Method
|
G : Gasket Option (with R Thread Plug)
" 6D %The drawing shows the released state of LHA-GRN.
02
max.2mm
2-R Thread Plug (Included)
% Release Confirmation Port ‘
Rc 1/8 (Air)
z g X
3 D .
Y /T S : Piping Option (Rc Thread)
*The drawing shows the released state of LHA-SRN.
@ Lock Confirmation Port HNA Air Vent Port*4 Release Port

Rc 1/8 (Air) Rc Thread % @
Nx ==k @S\
Lock Port: O-ring (Included) == M
(-C/-G option) Z ST Lock Port
AR &)

Rc Thread

@ Lock/Release Confirmation Port Phase

2-NG Screw *4

.

N :Standard

Iy

Release Port: O-ring (Included)
(-C/-G option)

Notes

% 1. The slot for determining the lever phase faces the port NL
side if locked.

2. Mounting bolts are not provided.Customer should
prepare based on dimension "S".

3. Speed control valve is sold separately.Please prepare
using reference to P.727 .

1. Please contact us if it has a combination with other % Release Confirmation Port

check method and option form. - Lock Confirmation Port

303



Swing Clamp Index Model No. Indication | Performance| External Air Sensing |Lever Design . Cautions
Digest Cross Section | Specifications Curve Dimensions Option Dimensions Accessories P.445 K.SMEK

Harmony in Innovation

High-Power

@ Model No. Indication Gerie
(Format Example : LHA0550-CRN. LHA0750-SLNC)

Pneumatic Series

N Body Size
Hydraulic Series
NC Design No. -

— . Valve /Coupler
L H A O 4 8 O G L NL Piping Method Hydraulic Unit
S NR |1 swing Direction when Clamping Manualloperation
Accessories
Action Confirmation (When N[J is chosen)
é ﬁ é Cautions / Others

E Option (When Blank is chosen)

Hole Clamp
SFA
SFC
@ External Dimensions and Machining Dimensions for Mounting (mm)
Model No. LHA0360-CJ0NI | LHA0400-00NC | LHA0480-00NT | LHA0550-00NT | LHA0650-0NT | LHA0750-00NT | LHA0900-00NT | LHA1050-00ND ks
Full Stroke 13.5 14.5 15.5 18.5 20 24 26 32 _LAw
Swing Stroke(90°) 5.5 6.5 75 8.5 10 12 14 16 LT/LG
Vertical Stroke 8 8 8 10 10 12 12 16 TLA-2
A 104 115 128.5 145.5 156 181 203 240 TLB-2
B 49 54 61 69 81 92 107 122 TLA-1
C 40 45 51 60 70 80 95 110
D 36 40 48 55 65 75 90 105 Link Clamp
E 64.5 715 79 89 9 109 120 144 KA
F 39.5 46.5 51 59 63 71 74 88
Fu 64.5 68.5 775 86.5 93 110 129 152 LKC
G 25 25 28 30 31 38 46 56 _Lkw
H 29 315 35.5 39 46 52 59.5 67 L
J 20 22.5 25.5 30 35 40 475 55 TMA-2
K 314 34 40 47 55 63 75 88 TMA-1
L 66 73 83 88 106 116 136 152
M 11 n 13 12 13 16 19 22 Work Support
Nx 23.5 26 30 335 39.5 45 52.5 60 BT
Ny 8 9 1 12 15 16 18.5 22.5 L
P 3 3 3 3 5 5 5 5 e
Q 75 9 9 1 1 14 175 20
R 45 55 55 6.8 6.8 9 1 14 S
S 16 15 17.5 17 17 21 25 32 Air Sensing
T 15.5 16.5 175 20.5 22 26 28 34 Lift Cylinder
U 15 18 22 25 30 355 45 55 LLW
v 13 15 18 21 24 30 37 43
W 1 12 14 15 16 16 18 19 Compact Cylinder
X (Nominal X Pitch) M14X1.5 M16X1.5 M20X1.5 M22X1.5 M27X1.5 M30x1.5 M39X1.5 M48%1.5 BT
Y 5 6 8 8 10 10 14 14 i
Z (Chamfer) Q a a3 c3 C4 cs 6 c6
AA 22 24 30 32 4 46 55 65 LLU
AB 7 8 9 10 11 11 12 12 DP
AC 24.5 26.5 33 35.5 45 50 60 71 DR
BA 14 16 19 22 25 31 38 44 DS
BB 17 20 25 28 34 40 49 60 DT
CA 6 7 9 10 12,5 14 18.5 23
CB 6.5 6.5 7.5 95 115 12,5 1.5 13.5 Block Cylinder
cC 4 4 5 6 6 8 8 10 T oea
EA (Nominal X Pitch) M4x0.7 M5X0.8 M5x0.8 M6X 1 M6X 1 M8X1.25 M10X1.5 M12X1.75 DBC
NA 35.5 39.5 45 45 45 53 53 53
NB 32 33 38,5 38.5 40.5 49 49 57.5
NC 9.8 9 i 1 1 13 13 17 Control Valve
ND 117 13 14.5 14.5 14.5 20.5 20.5 24 BZL
NE 17 19 21 21 21 245 245 24.5 BZT
NF 25 29 29 29 29 38 38 38 BZX/JZG
NG (NominalXPitchXDepth) M3x0.5x5 M3x0.5x5 M3x0.5x5 M3x0.5x5 M3x0.5x5 M4x0.7x6 M4x0.7x6 M4x0.7x6
JA 35 35 35 35 45 45 45 45 Pallet Clamp
JB 14 14 14 14 19 19 22 22 ve
Lock Port/ -C option G1/8 G1/8 G1/8 G1/8 G1/4 G1/4 G3/8 G3/8 o
Release Port | -S option Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rcl/4 Rc1/4 Rc3/8 Rc3/8
R-Thread Plug | -G option R1/8 R1/8 R1/8 R1/8 R1/4 R1/4 R3/8 R3/8 Expansion
0-ring (-C/-G option) 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 Locating Pin
Cylinder Capacity | Lock 4.8 73 10.8 19 26.7 48.7 76.6 1321 VL
cm?| Release 6.5 9.3 14.3 253 37.8 66.4 111.3 200 VM
Mass *7 kg 0.8 1 1.6 22 3.1 45 76 10.6 V)
Notes %7. Mass of single swing clamp including taper sleeve and nut. VK

1. Please refer to P.315 about air sensing chart

FP

FQ
Customized
Spring Cylinder

DWA/DWB

304



Double Action Swing Clamp Quick Change Lever Option

305

@ External Dimensions

C : Gasket Option (G Thread Plug)
*The drawing shows the released state of LHA-CR-F.

Release Port: G Thread *3 | B
(Only for -C option: H J
Speed Control Valve Port) ,»f\/
@/ R type
O & Swing Direction
J when Clamping
@ Ltype
4-6R

With BSPP Plug (2-G Thread)
(-C option only)
Lock Port: G Thread *3

(Only for -C option:
Speed Control Valve Port)

Spot Facing ¢ Q
2-Slot for Lever Phasing *1

dFA
CChis
H o
ol i O
(N
prd
U 5
[N,
1S°L = 3
o [_ R -
< L %
L
L
6D8)
Nx

Lock Port: O-ring (Included)
(-C/-G option)

2-R Thread Plug (Included)

model LHA-LI[]-F

% 1. Slot for Lever Phasing (Released State)
The slot position varies as per the lock swinging direction.

Swing Direction
when Clamping : L

M
[
2-Slot for Lever Phasing

© Machining Dimensions of Mounting Area
Nx#6

@ \
e 3 W
#/ | O

K ‘

Swing Direction
when Clamping :R

2-Slot for Lever Phasing

Release Port ¢ P *6

&

6
|

%6 Ny><

y

N

©

4-EA Screw

103
Remove all burrs %6 ¢D o

6.35%6 0.6

%5

Notes
%4, EA tapping depth should be calculated so that
mounting bolts engage fixture by at least 1.5 x

bolt diameter.
%5, The ¢ D depth of the body mounting hole should

be decided from dimension F.
6. This process indicates -C/-G:Gasket option.

© Piping Method

G : Gasket Option (with R Thread Plug)
*%The drawing shows the released state of LHA-GR-F.

Ny Ny

Release Port: O-ring (Included)
(-C/-G option)

Notes
% 2. Mounting bolts are not provided. Customer should

prepare based on dimension "S".

Speed control valve is sold separately.Please prepare

using reference to P.727.
1. Please contact us if it has a combination with other

check method and option form.

3.

S : Piping Option (Rc Thread)
*The drawing shows the released state of LHA-SR-F.

Release Port
Rc Thread

o
\NB

Lock Port
Rc Thread



Swing Clamp Index Model No. Indication | Performance| External Air Sensing |Lever Design . Cautions
Digest Cross Section | Specifications Curve Dimensions Option Dimensions Accessories P.445 K.SMEK

Harmony in Innovation

High-Power

@ Model No. Indication Gerie
(Format Example : LHA0550-CR-F, LHA0750-SL-F)

Pneumatic Series

Body Size
DESign NO.

— - Valve /Coupler
F Piping Method Hydraulic Unit

LHA 048 O -

|1 swing Direction when Clamping Manualloperation

Accessories

CENONON®)
o X3

é Action Confirmation (When Blank is chosen)
[@ Option (When F is chosen) Cautions/Others
Hole Clamp
SFA
SFC
@ External Dimensions and Machining Dimensions for Mounting ()
Model No. LHA0360-C10-F | LHA0400-C100-F | LHA0480-C10-F | LHA0550-0J0-F | LHA0650-010-F | LHA0750-000-F | LHA0900-0I0-F | LHA1050-00-F t:iv
Full Stroke 135 14.5 155 18.5 20 24 26 32 e
Swing Stroke(90°) 5.5 6.5 75 8.5 10 12 14 16 CTLA2
Vertical Stroke 8 8 8 10 10 12 12 16 TLB-2
A 102 13 126.5 1435 156 181 203 238 AT
B 49 54 61 69 81 2 107 122 ok Clam
C 40 45 51 60 70 80 95 110 e
D 36 40 48 55 65 75 90 105 ke
E 64.5 71.5 79 89 94 109 120 144 LKW
F 395 46.5 51 59 63 71 74 88 %
Fu 62.5 66.5 75.5 84.5 93 110 129 150 A
G 25 25 28 30 31 38 46 56
H 29 31.5 35.5 39 46 52 59.5 67 Work Support
J 20 225 255 30 35 40 475 55 LD
K 314 34 40 47 55 63 75 88 ;ici
L 66 73 83 88 106 116 136 152 T
M 1 11 13 12 13 16 19 22 A Sensing
Nx 235 26 30 335 395 45 52.5 60 Lift Cylinder
Ny 8 9 11 12 15 16 18.5 225 LLW
P 3 3 3 3 5 5 5 5 _
Q 7.5 9 1 1 14 175 20 Cmpaﬁw
R 45 55 55 6.8 6.8 9 1 14 T
S 16 15 17.5 17 17 21 25 32 L
U 15 18 22 25 30 355 45 55 op
Z (Chamfer) Q c3 a3 a3 c4 s 6 6 [D)Si
CA 5 5.8 78 9 10 13.25 17.5 225 o
cB 5 6.5 6.5 7 95 95 13 13.5
CC 3 +g.014 4 +8018 4 +g.018 4 +8.018 6 +g.018 6 +8.018 8 +g.022 8 +g.022 B|0Ck Cylinder
EA (Nominal X Pitch) M4x0.7 M5%0.8 M5X0.8 M6X1 M6X1 M8x1.25 M10X1.5 M12X1.75 DBA
FA 13.5 16 195 22 26 31 395 48 bsc
FB 11 125 15 17 20 23 275 30 Control Valve
FC 26.5 29 325 375 42 49 55.5 64 e
A 35 35 35 35 45 45 45 45 BZT
B 14 14 14 14 19 19 22 22 BZX/)ZG
LockPort/  |-Coption G1/8 G1/8 G1/8 G1/8 Gl/4 Gl/4 G3/8 G3/8
Release Port |Soption | Rcl/8 Rcl/8 Rcl/8 Rcl/8 Rcl/4 Rcl/4 Rc3/8 Rc3/8 Pallet CV':”""
R-Thread Plug |-G option R1/8 R1/8 R1/8 R1/8 R1/4 R1/4 R3/8 R3/8 T S
0-ring (-C/-G option) 1BPS 1BPS 1BP5 1BPS 1BP7 1BP7 1BP7 1BP7 xpansion
Cylinder Capacity | Lock 4.8 73 10.8 19 26.7 48.7 76.6 132.1 Locating Pin
M’/ Release 7.2 109 16.7 28.1 409 72.5 1179 208.1 L
Mass 7 kg 0.7 09 13 19 2.8 4 7 9.8 va'
Note %7. Mass of single swing clamp. VK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

306



307

Double Action Swing Clamp Balance Lever Option

@© External Dimensions
C : Gasket Option (G Thread Plug)
*The drawing shows the released state of LHA-CR-P.

Release Port: G Thread *3  jp B

(Only for -C option: H J
Speed Control Valve Port)

/\/

¢JB

~

17

AV

L type

4-¢R
Spot Facing ¢ Q

With BSPP Plug (2-G Thread)
(-C option only)
Lock Port: G Thread *3

(Only for -C option:
Speed Control Valve Port)

¢ PB PH Screw *1
¢ PChig

v
@/ R type
\ Swing Direction

I when Clamping

PF

PE
m:L\I =
=

R0.8

PG

G
]

$D 05

Nx

Lock Port: O-ring (Included)
(-C/-G option)

Ny Ny

Release Port: O-ring (Included)
(-C/-G option)

Notes

% 1. Use the tapped hole (PH thread) on top of rod to
attach retainer for lever.

% 2. Mounting bolts are not provided.Customer should
prepare based on dimension "S".

% 3. Speed control valve is sold separately.Please prepare
using reference to P.727.

1. Please contact us if it has a combination with other

check method and option form.

model LHA-[I[]-P

@© Machining Dimensions of Mounting Area

Nx?*6

ot

Release Port ¢ P %6

6

B3

6

>
=
£
Z,i
Lock Portg P ¢ /

4-EA Screw 4

B

o
K

03
Remove all burrs %6 #D %

6.35%6 Co.6

Notes
4. EA tapping depth should be calculated so that
mounting bolts engage fixture by at least 1.5 x
bolt diameter.
%5. The ¢ D depth of the body mounting hole
should be decided from dimension F.
3%6. This process indicates -C/-G: Gasket option.

@ Balance Lever Reference Drawing

Retainer for Maintaining
Bolt the Lever Position

Lever

@© Piping Method

G : Gasket Option (with R Thread Plug)
% The drawing shows the released state of LHA-GR-P.

max.2mm

2-R Thread Plug (Included)

=N

4

——

£

S @ Piping Option (Rc Thread)
%The drawing shows the released state of LHA-SR-P.

Release Port
Rc Thread

Lock Port
Rc Thread




Swing Clamp Index Model No. Indication | Performance| External Air Sensing |Lever Design . Cautions
Digest Cross Section | Specifications Curve Dimensions Option Dimensions Accessories P.445 K.SMEK

Harmony in Innovation

High-Power

@ Model No. Indication Gerie
(Format Example : LHA0550-CR-P. LHA0750-SL-P)

Pneumatic Series

Body Size
DESign NO.

— - Valve /Coupler
P Piping Method Hydraulic Unit

LHA 048 O -

|1 swing Direction when Clamping Manualloperation

Accessories

CENONON®)
o X3

é Action Confirmation (When Blank is chosen)
@ Option (When P is chosen) Cautions/Others
Hole Clamp
SFA
SFC
@© External Dimensions and Machining Dimensions for Mounting ()
Model No. LHA0360-10-P | LHA0400-C1-P | LHA0480-CI01-P | LHA0550-01C-P | LHA0650-0I0-P | LHA0750-0I0-P | LHA0900-CIC-P | LHA1050-C10-P t:iv
Full Stroke 13.5 14.5 15.5 185 20 24 26 32 e
Swing Stroke(90°) 55 6.5 7.5 8.5 10 12 14 16 TLA2
Vertical Stroke 8 8 8 10 10 12 12 16 TLB-2
A 102 13 126.5 143.5 156 181 203 238 A
B 49 54 61 69 81 92 107 122 ok Clam
C 40 45 51 60 70 80 95 110 KA
D 36 40 48 55 65 75 90 105 ke
E 64.5 715 79 89 94 109 120 144 LKW
F 395 46.5 51 59 63 71 74 88 %
Fu 62.5 66.5 75.5 84.5 93 110 129 150 A
G 25 25 28 30 31 38 46 56
H 29 315 355 39 46 52 59.5 67 Work Support
J 20 225 255 30 35 40 475 55 LD
K 314 34 40 47 55 63 75 88 #;C
L 66 73 83 88 106 116 136 152 T
M 11 n 13 12 13 16 19 22 —
Air Sensing
Nx 235 26 30 335 395 45 52,5 60 Lift Cylinder
Ny 8 9 n 12 15 16 18.5 225 LLW
P 3 3 3 3 5 5 5 5 _
Q 75 9 9 1 T 14 175 20 C‘”“‘”L‘L‘w
R 45 55 55 6.8 6.8 9 n 14 T
S 16 15 17.5 17 17 21 25 32 L
U 15 18 22 25 30 355 45 55 op
Z (Chamfer) Q a3 &) a3 c4 c5 c6 c6 [D)Si
EA (Nominal X Pitch) M4x0.7 M5x%0.8 M5%0.8 M6X1 M6X1 M8X1.25 M10X1.5 M12X1.75 o
PA 7 8 10 12 14 16 22 26
PB 13.5 16 20 23 28 335 43 53 Block Cylinder
PC 6+8.01S 6 +8.018 8 +3,022 10 +8.022 13 +g.027 13 +8.027 16+8.027 20 +8.033 DBA
PD 9 1 12 12,5 16.5 19 23,5 255 _bec.
PE 21 24 275 315 38.5 435 525 58.5 Control Valve
PF 22 25 29 33 40 45 54 60 e
PG 15.5 16.5 18.5 215 22 27 29 34 BZT
PH (Nominal X Pitch) M3%0.5 M3%0.5 M4x0.7 M5%0.8 M6X1 M6X1 M8x1.25 M8X1.25 BZX/JZG
JA 35 35 35 35 45 45 45 45
B 14 14 14 14 19 19 22 22 Pallet CV':mp
Lock Port/  |-C option G1/8 G1/8 G1/8 G1/8 Gl/4 G1/4 G3/8 G3/8 T S
Release Port  |-S option Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rc1/4 Rc1/4 Rc3/8 Rc3/8 Expansion
R-Thread Plug |-G option R1/8 R1/8 R1/8 R1/8 R1/4 R1/4 R3/8 R3/8 Locating Pin
0-ring (-C/-G option) 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 L
Cylinder Capacity | Lock 48 7.3 10.8 19 26.7 487 76.6 132.1 va'
cm?|Release 7.2 10.9 16.7 28.1 409 72.5 1179 208.1 vk
Mass *7 kg 07 0.9 13 19 28 4 7 9.8
Note %7. Mass of single swing clamp. %
FQ
Customized
Spring Cylinder
DWA/DWB

308



309

Double Action Swing Clamp Long Stroke Option (1/2)

©External Dimensions
C : Gasket Option (G Thread Plug)
*The drawing shows the released state of LHA-CR-Q.

Release Port: G Thread *3 JA B

(Only for -C option: H
Speed Control Valve Port)

I

N
|
Hexagon Socket Y@/ Rtype

model LHA-Q

@© Machining Dimensions of Mounting Area

) Ny 36
Release Port ¢ P *© &

%6
|

#6 Ny

y

N

Lock Port ¢ P *© /

[aa)
o = .
Ul X / \ = | \ Swing Direction 4-EA Screw *4
= sl / when Clamping
@ L type Remove all burrs *6 #D*Y?
With BSPP Plug (2-G Thread) 4-pR 63556 s

(-C option only)

Lock Port: G Thread *3
(Only for -C option:
Speed Control Valve Port)

Spot Facing $Q

¢ CC +8‘05 Slot for Lever Phasing *1 M
Rtype (Ltype : 180° Reverse) m

¢ AC X Screw

Nut (Included)

; njndE
T

a1 |

Taper Sleeve (Included)

BA

\Y
Taper 1/10
(1

No

o

jor)

jee)
Fu

g2

G
B Ly

. ©

%4,

%5,

6.

2-R Thread Plug (Included)

¥ %5

tes

EA tapping depth should be calculated so that
mounting bolts engage fixture by at least 1.5 x bolt
diameter.

The ¢ D depth of the body mounting hole should be
decided from dimension F.

This process indicates -C/-G:Gasket option.

Piping Method

G : Gasket Option (with R Thread Plug)
%The drawing shows the released state of LHA-GR-Q.

max.2mm

Nx

Lock Port: O-ring (Included)
(-C/-G option)

Release Port: O-ring (Included)
(-C/-G option)

Notes
1. The slot for determining the lever phase faces the port
side if locked.
Mounting bolts are not provided.Customer should
prepare based on dimension "S".
Speed control valve is sold separately.Please prepare
using reference to P.727.
1. Please contact us if it has a combination with other
check method and option form.

2.

3.

‘o

&ﬁ

S @ Piping Option (Rc Thread)
%The drawing shows the released state of LHA-SR-Q.

Release Port
Rc Thread

==

Lock Port
Rc Thread

;

T

‘©




Swing Clamp Index Model No. Indication | Performance| External Air Sensing |Lever Design . Cautions
Digest Cross Section | Specifications Curve Dimensions Option Dimensions Accessories P.445 K.SMEK

Harmony in Innovation

High-Power

@ Model No. Indication Gerie
(Format Example : LHA0550-CR-Q20. LHA0750-SL-Q25)

Pneumatic Series

Body Size
DESign NO.

- Q I:I Piping Method Valve / Coupler

Hydraulic Unit

LHA 048 O -

|71 Swing Direction when Clamping Manualloperation

Accessories

CENONON®)

R
L
o

Action Confirmation (When Blank is chosen)
é . . Cautions / Others
E Option (When Q[ is chosen)
Hole Clamp
SFA
@®External Dimensions and Machining Dimensions for Mounting () °FC
Model No. LHA0360-010-QC] | LHA0400-0-QI1 | LHA0480-00-QL1 | LHA0550-00-Q0) | LHA0650-00-Q | LHA0750-C0-Q | LHA0900-C1-Q)
Option Form *7 | Q15 Q20 Q25 Q30| Q15 | Q20 | Q25 | Q15 | Q0 | Q25 | Q15 | Q20 | Q25 |QI5|Q20|Q25(Q30| Q20 Q5 Q0 (75 LHA
Full Stroke 20525533 | 38 | 215 | 265 | 345 | 225 | 275 | 36 | 235 | 285 | 335 | 25|30 | 35 | 40 | 32 37 34 39 LHC
LHS
Swing Stroke(90°) |55 55| 8 | 8 | 65 | 65 | 95 | 75 | 75 | 11 | 85 | 85| 85 10|10 10|10 | 12 12 14 14 i
Vertical Stroke 7 | 1520 |25 30| 15 | 20 | 25 | 15 | 20 | 25 | 15 | 20 | 25 | 15|20 25|30 | 20 25 20 25 e
A 125|140 16251775 136 | 151 | 175 | 1495 164.5| 190 1605 175.5|190.5 171|186|201|216| 205 220 227 242 TLA-2
B 49 54 61 69 81 922 107 T2
C 40 45 51 60 70 80 95 TLATT
D 36 40 48 55 65 75 90 Link Clamp
E 78.5/88.5/1035|113.5| 85.5 | 95.5 | 111.5| 93 | 103 | 120 | 99 | 109 | 119 | 104 114|124 134 | 125 135 136 146 T kA
F 53.563.5/78.5(88.5| 60.5 | 70.5 | 86.5 | 65 | 75 | 92 | 69 | 79 | 89 | 73|83 |93 103| 87 97 90 100 LKC
Fu 715|765/ 84 | 89 | 755 | 80.5 | 885 | 84.5 | 895 | 98 | 91.5 | 965 | 101.5| 98 | 103|108 113 | 118 123 137 142 LKW
G 25 25 28 30 31 38 46 LI/L)
TMA-2
H 29 315 355 39 46 52 59.5 A
J 20 225 255 30 35 40 475
K 314 34 40 47 55 63 75 Work Support
L 66 73 83 88 106 116 136 LD
LC
M 11 ¥ 13 12 13 16 19 e
Nx 235 26 30 335 395 45 525 T
Ny 8 9 n 12 15 16 185 Air Sensing
P 3 3 3 3 5 5 5 Lift Cylinder
Q 75 9 9 11 m 14 175 twe
R 45 55 55 6.8 6.8 9 11
Compact Cylinder
S 16 15 175 17 17 21 25 T
T 225(275)35 |40 | 235 [285 [ 365 | 245 | 205 | 38 | 255 | 305[355|27|32[37 42| 34 39 36 7 LR
U 15 18 2 25 30 355 45 LLU
v 13 15 18 21 24 30 37 opP
w 11 12 14 15 16 16 18 ES
X (Nominal X Pitch) M14X1.5 M16X1.5 M20X1.5 M22X15 M27X1.5 M30X1.5 M39x1.5 o7
Y 5 6 8 8 10 10 14
Z (Chamfer) 2 a (@) a (@) 5 c6 Block Cylinder
AA 22 24 30 32 4 46 55 DBA
AB 7 8 9 10 1 1 12 DeC
AC 245 26.5 33 355 45 50 60 Control Valve
BA 14 16 19 22 25 31 38 ez
BB 17 20 25 28 34 40 49 BZT
CA 6 7 9 10 12,5 14 18.5 _BZXNzG
CB 65 6.5 75 95 1.5 125 1.5
Pallet Clamp
cc 4 4 5 6 6 8 8 s
EA (Nominal X Pitch) M4x0.7 M5x0.8 M5%0.8 M6X1 M6X1 M8x1.25 M10X1.5 VT
JA 35 35 35 35 45 45 45 Expansion
JB 14 14 14 14 19 19 22 Locating Pin
Lock Port/ | -Coption G1/8 G1/8 G1/8 GI/8 Gl/4 Gl/4 G3/8 VL
VM
Release Port | -S option Rc1/8 Rc1/8 Rcl/8 Rc1/8 Rcl/4 Rcl/4 Rc3/8 "
R-Thread Plug | -G option R1/8 R1/8 R1/8 R1/8 R1/4 R1/4 R3/8 VK
0-ring (-C/-G option) 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7
Gylinder Capacity | Lock | 7.2 | 8.9 |11.613.3) 10.8 | 133 | 173 | 158 | 193 | 252 | 242 | 294 | 345 |33.5/402(469|536| 65 751 1003 | 11511 Pull Stud Clamp
cm3| Release [10.9/13.5/17.5(202| 16.2 | 20 | 26 | 242 | 296 | 387 | 357 | 433 | 509 |51.161.3|715/817| 96.6 7 | 1542 | 1769 FP
. FQ
Mass 8 kg | 0708 1 | 1| 1 |11 | 13|16 |17 | 2 | 22| 24| 25|32(35/37|4 | 48 52 83 8.8
Customized
Notes %7. RefertoP.311 in case the stroke shown in the table above is exceeded. Spring Cylinder
%8. Mass of single swing clamp including taper sleeve and nut. DWA/DWB

310



Double Action Swing Clamp Long Stroke Option (2/2) model LHA-Q

©External Dimensions @© Machining Dimensions of Mounting Area
C : Gasket Option (G Thread Plug)

*The drawing shows the released state of LHA-CR-Q.

As O-ring slot for gasket is not on the body,
it should be prepared on the mounting side.

Release Port: G Thread 3 JA B
(S;;)égocr(;gt?gri\?arll\:/e Port) : T : ’\/ Release Port: O-ring (Included) ** ﬁx =
@Hexagon Socket Y @/ Rtype o
2 & N
© /"‘:‘\ =
e Swing Direction ©
I~ | < _Y g %
0 CSI < / when Clamping >
@ Lock Port: O-ring (Included) *¢ @
L type
With BSPP Plug (2-G Thread) 4-¢R %4 DK
(-C option only) Spot Facing ¢ Q 4-EA Screw ~
Lock Port: G Thread ** @ CC% Slot for Lever Phasing 1
(Only for -C option: Rt Ltvoe : 180°R
Speed Control Valve Port) ype (L type everse) % PG00 ¢D "’
= 0
¢ AC X Screw 2
Nut (Included) <[ 02 6 06

; BEIE
gl 1_ | %5

Taper Sleeve (Included)

\Y
Taper 1/10
(1
N
BA

o

@

@
Fu

Notes

%4, EA tapping depth should be calculated so that
mounting bolts engage fixture by at least 1.5 x bolt
diameter.

5. The ¢ D depth of the body mounting hole should be
decided from dimension F.

%6. This process indicates -C/-G:Gasket option.

2

" ©Piping Method

G : Gasket Option (with R Thread Plug)
%The drawing shows the released state of LHA-GR-Q.

max.2mm

2-R Thread Plug(Included)

¢D )

Nx

Lock Port (-C/-G option)

f

S @ Piping Option (Rc Thread)
%The drawing shows the released state of LHA-SR-Q.

Release Port (-C/-G option)

Release Port
Rc Thread

Notes %jij

% 1. The slot for determining the lever phase faces the port Lock Port
side if locked. Re Thread
% 2. Mounting bolts are not provided.Customer should
prepare based on dimension "S".
%3, Speed control valve is sold separately.Please prepare
using reference to P.727.
1. Please contact us if it has a combination with other
check method and option form.

N7

311



Swing Clamp Index Model No. Indication | Performance| External Air Sensing |Lever Design . Cautions
Digest Cross Section | Specifications Curve Dimensions Option Dimensions Accessories P.445 K.SMEK

Harmony in Innovation

High-Power

@ Model No. Indication Gerie
(Format Example : LHA0550-CR-Q40. LHA0750-SL-Q45)

Pneumatic Series

Body Size
DESign NO.

- Q I:I Piping Method Valve / Coupler

Hydraulic Unit

LHA 048 O -

|1 swing Direction when Clamping Manualloperation

Accessories

CENONON®)

R
L
o

Action Confirmation (When Blank is chosen)
é . . Cautions / Others
E Option (When Q[ is chosen)
Hole Clamp
SFA
©External Dimensions and Machining Dimensions for Mounting (mm) R
Model No.  |LHA0360-00-Q00 | LHAO400-0I-QD) | LHAO480-0IC-QC) | LHAOSS0-0IC-Q) | LHAOGS0-0C-QL] | LHAO750-0C-QC) | LHAO900-0C-QL) | LHAT050-0C-QC)
Option Form *7 Q35 Q30 | Q35 | Q40 | Q30 | Q35 | Q40 030|035 40|45 | Q50| 035 | Q40 | Q45 | Q50 |030 | Q35 |40 | 45 | Q50| Q30 035 | Q40| 045 | 050 | 25 |30 | Q35 | | s |0 LHA
Full Stroke ! 395 [ 445 | 495 | @1 | 46 | 51 |42 |47 (52|57 62| 50 | 55 | 60 | 65 42|47 |55 |60 | 65|44 49|57 |62 |67 |41 |46 |51 56|61 |66 LHC
Swing Stroke(909) 8 95 |95 Los | | v | m 2l 25 s 15 15 12 12]15 15 |15 14 e |17 |17 07 16 t:iv
Vertical Stroke *7 35 30 | 35 | 40 | 30 | 35 | 40 |30(35(40 45 (50| 35 | 40 | 45 |50 30|35 |40 |45 {5030 (35|40 |45 |50 25 |30 35|40 45|50 e
A 1925 190 | 205 | 220 | 205 | 220 | 235 |216|231/246 261 |276| 246 | 261 | 276 | 291 235|250 274|289 304|257 272 296 | 311 326 | 267 282297 |312 327|342 TLA-2
B 49 54 61 69 81 ) 107 122 TLB-2
C 40 45 51 60 70 80 95 110 LA
D 36 40 48 55 65 75 90 105 Link Clamp
E 1235 121513151415 130 | 140 | 150 [1361146/156/166/176|154 | 164 | 174 | 184 145155171181 191156 166182[192 202/162/172/182/19212021212 LKA
F 985 | 96.5106.5/116.5| 102 | 112 | 122 (106|116 126136146/ 123 | 133 | 143 | 153 [107/117 133143 )153[110[120 136146 156 106|116 126136146 156 LKC
Fu 94 93.5 1 98.5 1035 103 | 108 | 113 [110115[120[125130 123 | 128 | 133 | 138 [128[133[141146/151147 1521601165170 161 166171 176|181 186 #
G 25 25 28 30 31 38 46 56 VA
H 29 315 355 39 46 52 59.5 67 TMA
J 20 225 25.5 30 35 40 475 55
K 314 34 40 47 55 63 75 88 Work Support
L 66 73 83 88 106 16 136 152 LD
M 1 1 13 12 13 16 19 2 #;C
Nx 235 26 30 335 395 45 52.5 60 TC
Ny 8 9 1 12 15 16 18.5 225 Air Sensing
PA 3 3 3 3 5 5 5 5 Lift Cylinder
PB 8 8 8 8 10 10 10 10 LLw
Q 75 9 9 1 1 14 175 20 Compact Cylinder
R 45 55 55 6.8 6.8 9 1 14 0
S 16 15 175 17 17 21 25 32 LLR
T 45 1.5 [465 515 | 43 | 48 | 53 |44]49]54[59 64| 52 | 57 [62 | 67 |44 49|57 ]62]67 46|51 ]59 64|69 43|48 53 |58]63 |68 LLU
U 15 18 2 25 30 355 45 55 op
v 13 15 18 21 24 30 37 43 g?
w 1 12 14 15 16 16 18 19 oT
X (Nominal X Pitch) | M14x1.5 M16X1.5 M20X1.5 M22X1.5 M27x1.5 M30%1.5 M39%1.5 M48X1.5
Y 5 6 8 8 10 10 14 14 Block Cylinder
Z (Chamfer) (@) a a &) ca s 6 6 DBA
AA 22 2 30 32 4 46 55 65 Dee
AB 7 8 9 10 1 1 12 12 Control Valve
AC 245 26.5 33 35.5 45 50 60 71 BZL
BA 14 16 19 22 25 31 38 44 BZT
BB 17 20 25 28 34 40 49 60 _BzXnzG
CA 6 7 9 10 12.5 14 18.5 23
Pallet Clamp
CB 6.5 6.5 75 95 15 125 15 13.5 s
cC 4 4 5 6 6 8 8 10 VT
EA (Nominal X Pitch) | M4x0.7 M5X0.8 M5%0.8 M6X1 M6X1 M8x1.25 M10X1.5 MI12X1.75 Expansion
JA 35 35 35 35 45 45 45 45 Locating Pin
1B 14 14 14 14 19 19 2 2 erw
Lock Port/ |-Coption | G1/8 G1/8 G1/8 G1/8 G/4 Gl/a G3/8 G3/8 v
Release Port |-S option Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rc1/4 Rcl/4 Rc3/8 Rc3/8 VK
R-Thread Plug |-G option R1/8 R1/8 R1/8 R1/8 R1/4 R1/4 R3/8 R3/8
0O-ring (-C/-G option)|  1BP5 1BP5 1BP5 1BPS 1BP7 1BP7 1BP7 1BP7 Pull Stud Clamp
yinder Capacity | Lock 15 19.8 | 22.3 | 24.8 | 287 | 32 | 357 [433[484(536(587(639) 67 | 737 | 804 | 870|853 | 954 |117|1218) 132 |1293[1444168.2[1629 1977 1693 190 [2106 23132519 2726 i
cm3|Release| 228 | 298|336 | 37.4 | 441 | 49.5 | 54.8 |639715(791 (867|943 | 1021 | 1123 | 1226 | 1327 [1268[1419) 166 11811 196.2(1996 2223 258.6[281.3 3039|2667 29923317 36423967 4293 F_Q
Mass *8 kg 11 14 |15 |16 | 21 | 23 | 24 (28| 3 (32(34(36]45 |48 | 5 |53 (55(59 63 |66(69]93|98[104/109(11.4|114 /121127134141 148 5;,‘5,?9'“ C'nyff]de,
Notes 7. Refer to P.309 in case the stroke shown in the table above is less than. DWA/DWB

%8. Mass of single swing clamp including taper sleeve and nut. 312



313

Double Action Swing Clamp Swing Angle Selectable Option

©External Dimensions
C : Gasket Option (G Thread Plug)
%The drawing shows the released state of LHA-CR-Y45.

Release Port: G Thread 3 Ja

B
(Only for -C option: H )
Speed Control Valve Port) T ,\,f\/
|
@Hexagon Socket @/ Rtype
=]
] <
Y \ > ngo, <
Q\« (y“/
y@ L type
With BSPP Plug (2-G Thread) 46R
(-C option only) SpotFacing ¢ Q

Lock Port: G Thread *3

(Only for -C option:

@ CC*3% Slot for Lever Phasing *1

\Swing Direction

when Clamping

Speed Control Valve Port)

Rtype (Ltype : 180° Reverse)

Lock Port: O-ring (Included)

Nx

(-C/-G option)

Release Port: O-ring (Included)

(-C/-G option)

Notes

Nut (Included) ¢ AC X Screw
E]
= I <
= &l
> é =z
E |
Taper Sleeve (Included) | S
= $BB -
T
oU_ | T
v g
> %]
L
L
#D§3

1. The slot for determining the lever phase faces the port
side if locked.

% 2. Mounting bolts are not provided.Customer should
prepare based on dimension "S".

%3, Speed control valve is sold separately.Please prepare
using reference to P.727.

1. Please contact us if it has a combination with other
check method and option form.

model LHA-Y

% 1. Slot for Lever Phasing (Released State)
The slot position varies as per the lock swinging direction.

Swing Direction
when Clamping : R

Swing Direction
when Clamping : L

@©Machining Dimensions of Mounting Area

Release Port ¢ P 6

>
Lock Port ¢ P *©

*6
|

ﬂwﬁ

Nx *6

56 Ny

y

4

©

4-EA Screw *4 LK
Remove all burrs %6 #D'Q°
6.35 *6 C0.6
Ii
§ %5

Notes

4. EA tapping depth should be calculated so that

mounting bolts engage fixture by at least 1.5 x bolt

diameter.

5. The ¢ D depth of the body mounting hole should
be decided from dimension F.
%6. This process indicates -C/-G:Gasket option.

© Piping Method

G : Gasket Option (with R Thread Plug)
%The drawing shows the released state of LHA-GR-Y45.

2-R Thread Plug (Included)

Release Port

Rc Thread W

Rc Thread

max.2mm

S : Piping Option (Rc Thread)
% The drawing shows the released state of LHA-SR-Y45.

{a
R

T ©
Locﬁgn j &



Cautions
P.445

External
Dimensions

Model No. Indication | Performance
Curve

Index
Cross Section | Specifications

Air Sensing |Lever Design
Option Dimensions

Swing Clamp
Digest

Accessories

Harmony in Innovation

High-Power
Series

@ Model No. Indication
(Format Example : LHA0550-CR-Y30, LHA0750-SL-Y45)

Pneumatic Series

CENONON®)

o X3

|71 Swing Direction when Clamping

Action Confirmation (When Blank is chosen)

Body Size
Hydraulic Series
Design No. -
— — |:| . Valve /Coupler
L H A O 4 8 O Y [E]l Piping Method Hydraulic Unit

Manual Operation
Accessories

[A Option (When Y[ is chosen) Cautions/Others
Hole Clamp
SFA
@®External Dimensions and Machining Dimensions for Mounting () °FC
Model No. LHA0360-0C-Y2) | LHA400-00-YD | LHA0480-00-Y2 | LHA0550-00-Y0 | LHA0650-00-YD | LHA0750-00-YD | LHA0900-C0-YC | LHAT050-00-YC
Option Form Y30 | Y45 | Y60 | Y30 | Y45 | Y60 | Y30 | Y45 | Y60 | Y30 | Y45 | Y60 | Y30 | Y45 | Y60 | Y30 | Y45 | Y60 | Y30 | V45 | Y60 | Y30 | Y45 | Y60 [ LHA
Swing Angle 30° 1457 |60° |30° |45° |60° | 30° | 45°| 60° | 30° | 45° | 60° | 30° | 45°| 60° | 30° | 45° | 60° | 30° | 45°| 60° | 30° | 45° | 60° t:g
Full Stroke 109 11.5] 122 115 12.3] 13 [121] 13 [138]147]156]16.6| 153|165 176[187] 20 [21.3]199]21.4|229]248] 266|284 M
Swing Stroke 2935423543 5 (41 5 [58]47 |56 66 53 65|76 67| 8 93|79 94/109] 88 106|124 /LG
Extend Stroke 8 8 8 10 10 12 12 16 TLA-2
A 1014] 102 [1027) 112 [112.8] 1351251 | 126 [126.8|141.7 14261436 151.3[152.5 1536|1757 | 177 [178.3/196.9/198.4/1999 23282346 2364 T 2
B 49 54 61 69 81 ) 107 122
C 40 45 51 60 70 80 95 110 ik Clamp
D 36 40 48 55 65 75 ) 105 LKA
E 64.5 715 79 89 94 109 120 144 LKC
F 39.5 46.5 51 59 63 71 74 88 LKW
Fu 619625]63.2/655 663 67 | 741 75 |75.8/82.7|83.6 846/ 88.389.5]90.61047] 106 [107.31229124.4125.9144.8146 6 148.4 e
G 25 25 28 30 31 38 46 56 AT
H 29 315 355 39 46 52 50.5 67
J 20 225 25.5 30 35 40 475 55 Work Support
K 314 34 40 47 55 63 75 88 LD
L 66 73 83 88 106 116 136 152 o
M 1 1 13 12 13 16 19 2 T
Nx 235 26 30 335 395 45 52.5 60 A sensing
Ny 8 9 11 12 15 16 18.5 225 Lift Cylinder
p 3 3 3 3 5 5 5 5 LLW
Q 75 9 9 1 1 14 175 20 _
Compact Cylinder
R 45 55 5.5 6.8 6.8 9 1 14 L
S 16 15 175 17 17 21 25 32 LR
T 129/13.5[14.2[13.5]14.3] 15 [141] 15 [15.8/16.7]17.6|18:6 173 ]18.5]19.6|20.7] 22 [23.3[21.9]23.4]24.9]26.8/28.6]304 LU
U 15 18 22 25 30 355 45 55 op
v 13 15 18 21 % 30 37 03 o
w 1 12 14 15 16 16 18 19 or
X (Nominal X Pitch) M14X1.5 M16X1.5 M20X15 | M22x15 | M27x15 | M30X15 | M39x15 | M48x15
Y 5 6 8 8 10 10 14 14 Block Cylinder
Z (Chamfer) Q (&} (&} (&} C4 cs 6 6 DBA
AA 2 24 30 32 41 46 55 65 Dee
AB 7 8 9 10 1 1 12 12 Control Valve
AC 245 26.5 33 355 45 50 60 71 BZL
BA 14 16 19 22 25 31 38 44 BZT
BB 17 20 25 28 34 40 49 60 _Bzxnza
CA 6 7 9 10 12,5 14 185 23
Pallet Clamp
B 6.5 6.5 75 95 15 125 15 135 b
cc 4 4 5 6 6 8 8 10 VT
EA (Nominal X Pitch) M4x0.7 M5%0.8 M5%0.8 M6X1 M6X1 M8X1.25 MIOX15 | MI2X175  ¢oncion
JA 35 35 35 35 45 45 45 45 Locating Pin
JB 14 14 14 14 19 19 2 22 z'Lw
lockPort/ | -Coption|  Gi/8 G1/8 G1/8 G1/8 Gl/4 Gl/4 G3/8 G3/8 )
Release Port -S option Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rc1/4 Rc1/4 Rc3/8 Rc3/8 VK
R-Thread Plug | -G option R1/8 R1/8 R1/8 R1/8 R1/4 R1/4 R3/8 R3/8
0-ring (-C/-G option) 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 Pull Stud Clamp
Cylinder Capacity | Lock 38| 4 [43] 58 626585/ a1 |97 151 161]171[205]221]236] 38 [406]43.2]587]631 676 |1024]1099[ 1173 Eg
cm3| Release | 58 | 61| 65| 87 | 93 | 98| 13 | 14 | 148|224 237252313337 36 | 565|604 | 643|903 | 971 1039]1613] 173 1847 :
Mass 7 kg 07 09 14 2 29 42 7.2 101 G er
Note %7. Mass of single swing clamp including taper sleeve and nut. DWA/DWB

314



Double Action Swing Clamp Air Sensing Option model LHA-M / LHA-N

@© Air Sensing Option (Action Confirmation Method:+-M : Air Sensing Manifold Option / N  Air Sensing Piping Option)

Applicable Model

Action confirmation can be conducted by detecting C
- I LHA 4800 - ¢ .
differntial pressure with the air catch sensor connected — s R
to lock confirmation port and release confirmation port. Action Confirmation Method

. When M/N is chosen

[ About Air Catch Sensor

The air catch sensor is necessary to confirm the piston rod action.
The essential condition: Air catch sensor that have a consumption rate more than 22~25L/min(at 0.2 MPa) is needed.

Recommended Operating Air Pressure : 0.2 MPa

Recommended Air Catch Sensor

Manufacturer SMC CKD
Name Air Catch Sensor Gap Switch
Model No. ISA1.ISA2-H GPS2-07-15

In order to carry out stabilized detection, the number of clamps connected per one air catch sensor should be no more than 4.
The air pressure to the air catch sensor should be 0.2MPa.
Refer to the drawing below for the pneumatic circuit composition.

coop

Air Catch Sensor

Release Confirmation @ ©

Lock Confirmation 0.2MPa
(Recommended)
[ Notes for Use and Installation
@ Air venting port must be open to the atmosphere @ Grease the O-ring before assembly to fixture.
and kept free of coolant, chips or other debris. If it is mounted under dry state, the O-ring may have
The air catch sensor can malfunction if the air vent twisting or be defective.
port is blocked. If excessive grease is applied, the grease may overflow to

block the detection port, resulting in malfunctioning of
the air catch sensor.

X

315



Swing Clamp Index Model No. Indication | Performance| External Air Sensing |Lever Design . Cautions
Digest Cross Section | Specifications Curve Dimensions Option Dimensions Accessories P.445 K.SMEK

Harmony in Innovation

High-Power
[ Air Sensing Chart Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Number directly connected to clamp: 1

(Supply Air Pressure)

I
]

Air Catch Sensor
Set Pressure (ON)

Differential Pressure for Detection

Manual Operation
Accessories

m___ﬂ;l‘ Cautions / Others

AC 1 Hole Clamp
SFA
‘ o SFC

. Swing Clamp
PPN v Clamp
1 [ LHA

Swing Stroke

Pressure when Nozzle Opened

Full Stroke

Lock Air Pressure Detected (MPa)

Pressure when Nozzle Closed

When locking after released state

o

Caution 1
(Lock Stroke -1.5) £0.5

Vertical Stroke

Release End Full Stroke Lock End

Swing Stroke Lock Stroke

Caution 1,32
Within 10° LT/LG
TLA-2
TLB-2

TLA-1

(Supply Air Pressure)
Release

| Confirmation Port
(Release Detection Air)

o
]

Pressure when Nozzle Opened

Link Clamp
LKA

Lock LKC
Confirmation Port Liw

- - LM/LJ
(Lock Detection Air) !
TMA-2

TMA-1

Air Catch Sensor
Set Pressure (ON)

Differential Pressure for Detection

e

Air Vent Port

Pressure when Nozzle Closed

When releasing after locked state

Release Air Pressure Detected (MPa)

Work Support

LD
Notes LC
TNC
TC

o

1. Sensing chart shown is the relationship between the stroke and detection circuit air pressure.
2. The position where the air sensor has ON signal output varies as per the sensor setting. ) _
3. The detection pressure varies as per the number of clamps connected per circuit. (Maximum number of clamps connected: 4) ﬁ‘{f’cey”lfn'gﬂr
4. The features may vary as per the air circuit structure. For details, please do not hesitate to contact us. LLW
% 1. There s certain tolerance with regard to the position where the pressure for fully closing the detection nozzle is reached as per the clamp structure.
(Refer to the sensing chart.) Compact Cylinder

%2. Itis below 15 for LHA0360-CICIM/N. LL
LLR

LLU
Model No. LHA0360-CI0M/N | LHA0400-0CM/N | LHA0480-CJOM/N | LHA0550-C0M/N | LHA0650-CIOM/N | LHAO750-CIOM/N | LHA0900-CICM/N | LHAT050-0M/N or

Full Stroke mm 13.5 14.5 15.5 18.5 20 24 26 32 DR
DS
Swing Stroke mm 55 6.5 7.5 85 10 12 14 16 DT

Vertical Stroke mm 8 8 8 10 10 12 12 16

Block Cylinder
DBA
DBC

Control Valve
BZL
BZT
(Supply Air Pressure) BZX/JZG

Number directly connected to clamp: 4 (for reference)

(Supply Air Pressure)

0.2

o
[N

Pallet Clamp
VS
VT

’ When locking after released state ‘ ’ When releasing after locked state ‘

Expansion
Locating Pin

VL
Air Catch Sensor Set Pressure (ON) VM

Air Catch Sensor Set Pressure (ON)

V)
VK

Lock Air Pressure Detected (MPa)

Release Air Pressure Detected (MPa)

o

Release End Lock End Release End Lock End pull Stud Clamp

FP

FQ
Customized
Spring Cylinder

DWA/DWB

316



317

Double Action Swing Clamp Lever Design Dimensions / Accessories model LHA
©Taper Lock Lever Design Dimensions
% Reference for designing taper lock swing lever.
Corresponding Model No. Blank
ponding clall Ty Blank
LHA 0-6/ || u |-]eO
S N Y[
Body Size é Option
Blank/Q[J/Y[J selected
(mm)
Comesponding ModelNo.!| LHA0360 | LHA0400 | LHA0480 | LHA0550 | LHA0650 | LHAQ750 | LHAQ0900 | LHA1050
HHHs A 17 19 23 26 29 35 43 50
Pin Hole for Lever Phasing B 14 16 19 P 25 31 38 44
- C 3 3 4 4 4 4 5 6
D 10.5 10.5 12.5 14.5 16.5 17.5 17.5 20.5
E 17+8,027 20+8.033 25 +8,033 28 +8.033 34+84039 40+8.039 49 +84039 60+8'046
F 15 17 21 235 29 33 42 51
oF*g? G 8 9 n5 | 13 | 155 | 18 | 225 | 28
C0.6 U H 4+0018 4+0018 5+9018 69018 6+0018 8+002 8+g02 10+402
Phasing Pin
o L Y (Roference) | $4hBIX10/94(n8)X10 5(h8)x12| G6(n8)x14| $6(h3)x16| $8(n8)X16] 98(h8)x 16| $10(18)x20
< ;J i Notes
1. Swing lever should be designed with its length according to performance
P graph shown on P.293.
2. If the swing lever is not in accordance with the dimension shown above,

performance may be degraded and damage can occur.

3. The pin hole (¢ H) for determining the lever phase should be added, if necessary.
% 1. Please refer to the swing lever design dimension for quick change lever
that is descripted below when -F option (quick change lever option) is used.
Please make self preparation, when P option is chosen (balance lever option).
©Quick-Change Lever Design Dimensions
% Reference for designing quick change swing lever.
Corresponding Model No. C (mm)
R
- ? ol T L e e e e B
A 2 25 30 34 40 46 55 60
Body Size 3| Option F selected B 22 26 32 36 45 53 70 82
C n 12.5 15 17 20 23 275 30
Pin Hole for Lever Phasing D 15-806| 18-806| 22-8020] 25-8020| 30-8020 35.5-802s 45-8025| 55-8030
(Processed if necessary) E 15 19 23 26.5 31.5 36.5 46 55
M<Sc—re>w /ﬂ - /\ F 9.75 12 14.75 17 20 235 29.75 36
Ty G n 14 17.5 20 23 26 32 39
/r[ i 7< & H R5.5 R7 R8.75 R10 R11.5 R13 R16 R19.5
N o @ . — % J 6.5 8.5 10.5 12.5 14.5 16.5 21 25
ol TN # K 2 3 4 4 5 7 9 1
[ 1 i L 13.5 16 18 22 26.5 31 42 46
< (ﬂ)\u = too M M6X1 | M8XT |MI0X1.25|M12X1.5|M14X1.5M16X1.5| M20X2 | M24X2
E 570 N 04 | C06 | C06 | CI a a a a
P 2 2 2 2 2 2 2 2
0L Q 25 | 35 | 35 4 55 | 55 | 75 8
¢D R 3 4 4 4 6 6 8 8
| 3 S 13.5 14 18 19.5 24.5 2775 38 45
- © Ve 2:0 o Phasl . 34 45 45 45 6.5 6.5 9 9
AW = (Reference) | $3X8 | #4X8 | $4X10 | $4X10 | $6X14 | $6X14 | ¢p8X20 | $8X22
- Notes
. H 1. Swing lever should be designed with its length according to performance
graph shown on P.293.
2. If the swing lever is not in accordance with the dimension shown above,
performance may be degraded and damage can occur.
3. The pin hole (¢ R) for determining the lever phase should be added, if necessary.
4. Sells the tightening bolt (LZH10-B) for lever separately.



Swing Clamp Index Model No. Indication | Performance| External Air Sensing |Lever Design . Cautions
Digest Cross Section | Specifications Curve Dimensions Option Dimensions Accessories P.445 K.SMEK

Harmony in Innovation

. . . . . High-Power
@© Accessories : Material Swing Lever for Taper Lock Option Series
Model No. Indication (mm) Pneumatic Series
LZH0360|LZH0400|LZH0480|LZH0550 |LZH0650|LZH0750 |LZH0900 LZH1050
LZH 048 0- T U A A N
Hydraulic Series
Size (Refertothe Design No. Conesponding ModelNo. *2| LHA0360 | LHA0400| LHA0480| LHA0550 | LHA0650| LHA0750 |LHAQ900| LHA1050
graph on theright) (Revision Number) Valve / Coupler
A 120 145 160 170 175 185 | 220 | 270 Hydraulic Unit
B 26 32 40 45 50 58 75 90 . 10 .
peration
/\ C 17 19 23 26 29 35 43 50 Accessories
@ { i
- L/ D 13 16 20 23 25 29 38 45 Cautions/ Others
D E 14 16 19 22 25 31 38 44
A F 17 20 25 28 34 40 49 60 Hole Clamp
6G02 G 15 17 2| 235 | 29 33 42 51 oFA
Q SFC
06 H 13 16 20 225 25 29 375 45
Yl RTA 1. Material : S50CH LHC
i 2. If necessary, the front end should be additionally machined. LHS
‘ 3. When determining the phase, refer to taper lock lever design dimensions for LHW
oF each model for the additional machining. #I;Li
%2. Please refer to the accessory for quick change lever option when TLB:Z
'F' option (quick change lever option) is used. TLA-T
Please make self preparation, when P option is chosen (balance lever option).
. . . . . . Link Clamp
@© Accessories : Material Swing Lever for Quick Change Option e
o (mm) LKC
Model No. Indication LZH0360|L.ZH0400|LZH0480 | LZH0550|L.ZH0650,LZH0750|LZH0900, LZH1050 LKW
Model No. |™_f -F -F -F -F -F -F -F ML
L Z H O 4 8 0 - F Corespoding HodelNo, LHAO360 LHAO400/LHA0480 LHAO550/LHAO650 LHAQ750 LHA0900/ LHA1050 TMA-2
Size Refertothe Design No. -00-F | -00-F | -00-F | -00-F | -00-F | -00-F | -00-F | -00-F TMA-1
graph on theright) (Revision Number) A 22 25 30 34 40 46 55 60
B 22 26 32 36 45 53 70 82 Work Support
M Screw C 1 125 15 17 20 23 275 30 LD
7 D 15-8016| 18-801| 22-8a20| 25-8020| 30-8c20 35.5-8ms 45-8es| 55-8os0 #; c
E 15 19 23 26.5 315 36.5 46 55 TC
. — @ F 9.75 12 14.75 17 20 23.5 29.75 36 X ]
Air Sensing
= | G n 14 17.5 20 23 26 32 39 Lift Cylinder
« - H R5.5 R7 R8.75 R10 R11.5 R13 R16 R19.5 LLW
DI\N E J 65 | 85 | 105 | 125 | 145 | 165 | 21 25 _
z K 2 3 4 4 5 7 9 1 CO”‘F’TC&
Fo1 L 13.5 16 18 2 | 265 | 3 42 46 NI
#D M M6X1 | M8XT |M10X1.25M12X1.5[M14X1.5|M16X1.5| M20X2 | M24X2 LLU
N co4 C0.6 C0.6 @ l al @] C1 DP
p 2 2 2 2 2 2 2 2 DR
~ A Z 120 145 160 170 175 185 220 270 o
< (rov C DT
“ Notes
H 1. Material : S50CH Block Cylinder
2. If necessary, the front end should be additionally processed. 322
3. When determining the phase, refer to quick change lever design dimensions
for each model for the additional machining. Control Valve
4. Sells the tightening bolt (LZH[]0-B) for lever separately. BZL
BZT
@ Accessories : Tightening Bolts for Quick Change Lever - BzxpzG
mm
Model No. Indication LZH0360|L.ZH0400|LZH0480|LZH0550|LZH0650|LZH0750 LZH0900|LZH1050  Pallet Clamp
Model No. N y § J o o N B
B B B B B B B B S
LZH O 4 8 O-B Corespondingode o |LHAO360LHAO400LHA480/LHAOS50/LHAQ650| LHAO750 LHA0900/ LHAT050 vt
Size (Refertothe Design No. OC-F | -OCO-F 1 -O0-F 1 0 L OC-F L -OC-F | -OC-F | -L0-F Expansion
graph o theright) (Revision Number) A 20 23 28 32 40 46 61 71 Locating Pin
B 6 8 10 12 14 16 20 24 VL
VM
Hexagon Socket G B A
C 7 10 " 13 16 18 23 27 VJ
VK
C | Escrew D 6 8 10 12 14 16 20 24
L / E M6X1 | M8XT |M10X1.25M12X1.5|M14X1.5|M16X1.5| M20X2 | M24X2 Pull Stud Clamp
7N T
: w =
i s = F 10 13 16 18 21 24 30 36 Fa
w G 5 6 8 10 12 14 17 19 Customized
Spring Cylinder
DWA/DWB

318



Hydraulic Swing Clamp cautions model LHA/LHS/LT/LG/TLA-2/TLB-2/TLA-1
T

© Cautions

@ Notes for Design @ Installation Notes

1) Check Specifications 1) Check the Usable Fluid

@ Please use each product according to the specifications. @ Please use the appropriate fluid by referring to the Hydraulic Fluid

List (P.1043).
2) Notes for Circuit Design

@ Please read "Notes on Hydraulic Cylinder Speed Control Circuit" on 2) Mounting the clamp
P. 1044 to assist with proper hydraulic circuit designing. ® When mounting the clamp, use hexagon socket bolts as multiple
@ Ensure there is no possibility of supplying hydraulic pressure to the lock bolt holes for mounting (with tensile strength of 12.9)
and release ports simultaneously. and tighten them with the torque shown in the chart below.
Tightening with greater torque than recommended can depress
3) Swing lever should be designed so that the inertia moment is small. the seating surface or break the bolt.
® Large moment of inertia will degrade the lever's stopping accuracy
and cause undue wear to the clamp. Model No. Thread Size  |Tightening Torque (N*m)
Additionally, the clamp may not function, depending on supplied t:ﬁgigg;t:igigg M4>07 40
hydraulic pressure and lever mounting position. LHS0400 / LHW0400] M5x0.8 80
@ Please set the allowable operating time after the inertia moment is LHA0480 / LHC0480 M50 80
calculated LHA LHS0480 / LHW048[] ’ )
' . ) LHA0550 / LHC0550
Please make sure that let the clamps work within allowable operating t:g LHS0550 / LHWO55] M6 X1 14
time referring to the allowable operating time graph. LHA0650 / LHC0650
LHW M6 X1 14
LHS0650 / LHW065(]
i ) i LHA0750 / LHS0750
4) When using on a welding fixture, the exposed area of piston rod should LHWO75 1 M8x1.25 33
be protected. LHA0900 / LHS0900 M10X 1.5 65
@ If spatter gets onto the sliding surface it could lead to malfunction and LHA1050/LHS1050 M12x1.75 14
fuid leak LT0301 /LG0301 M4Xx0.7 32
uid leakage. LT0360)/ LGO36L M4X0.7 32
LT040C] / LGO40C M5%0.8 6.3
5) When clamping on a sloped surface of the workpiece LT048L]/LG048L] M5x038 63
® Mak he cl £ d . f fthe cl LT/LG LTO550]/LGO55] M6 X1 10
ake sure the clamp surface and mounting surface of the clamp are L7065/ LG0650] MEX1 10
parallel. LT0750/LG0750] M8x1.25 25
LG090[! M10X1.5 58.8
LG1050] M12X1.75 98
TLLJ040(-[J M5X%0.8 6.9
TLI060C-[] M6 X1 1.8
- X .
TLA2 TLO080C-CJ M6 X1 11.8
TLB-2 TLOI1000)-[] M8X1.25 25
TLAT TLO1600-00 M8X1.25 25
TLI20000-[] M10X 1.5 58.8
TLO25000-00 M10X 1.5 58.8
TLE400C-0J M12X1.75 98

6) Notes for LHA-M/N, LHW

® When using air sensing swing clamp (LHA-M/N, LHW),
make sure to check the Notes for Design - Installation - Use
(Pages shown below).
- Swing clamp with air sensing option LHA-M/N: Refer to P.315.
+ Swing clamp with air sensing valve LHW: Refer to P.353.

445



Swing Clamp

Digest P.2g5 | cautions KO@SMEK

Harmony in Innovation

High-Power
Series

Pneumatic Series

3) Mounting and removing the swing lever. ®If clamp can't be removed from Hydraulic Series

® Oil or debris on the mating surfaces of the lever, taper sleeve or fixture for final tightening,

. . . . Valve /Coupler
piston rod can cause the rod to loosen. secure the lever while tightening Hydraulic Unit
Clean carefully before assembly. the nut.

X X X Manual Operation
® Lever arm mounting bolt torques are shown below. It is best to bring the lever to the I -
LHA/LHC/LHS/LHW/LT/LG Standard : Taper Lock Lever middle of the swing stroke before
iz Thread Size  |Tightening Torque (N*m) tightening the nut. Cautions / Others
LHA0360 / LHS0360 M14X1.5 21~25
LHA0400 / LHC0400
X K ~
LHS0400 / LHW040C] MI6x1.5 3740 Hole Clamp
i SFA
LHA @ While the clamp is in the fixture or vise, use a hex wrench
LHAQ550 / LHC0550 _ _ ]
t:g LHS0550 / LHWO550] M22x1.5 84~100 to bring the arm to the middle of the swing stroke and Swing Clamp
LHA0650 / LHC0650 then loosen the nut. H
M27X1. 120~ 145
LHW LHS0650 / LHW065[] 3 HC
LHA0750 / LHS0750 HS
M30x1.5 175~ 210 @ Loosen the taper sleeve nut two or three
LHWO0751 H
LHA0900 / LHS0900 M39X 1.5 280 ~ 335 turns then remove the lever with puller. LT/LG
LHA1050 / LHS1050 M48x 1.5 333 ~ 400 Do not put any rotating torque on the TLA-2
LT0301/LG0301 M8 1 8~ 10 ) TLB-2
LT0360] / LGO36L] M10X 1 15~ 18 piston rod. ETEE
LT040L] / LGO40(] M12X1.5 24~29
LT048(1/LGO48[] M16X1.5 37~45 Link Clamp
LTLG LT0550]/LG055[] M18X 1.5 59 ~71 o . A
LT06501/ LGOG5L] M22X15 93~ 112 4) Swinging Speed Adjustment e
LT07501/ LGO75L] M28%1.5 147 ~177 ® Adjust the speed following "Allowable Swing Time Graph". LKW
LGOS0L] M36X1.5 235~ 282 If the clamp operates too fast the parts will wear out leading to LM/LJ
LG1050J M45x 1.5 300 ~ 360 ] ) ) —
premature damage and ultimately complete equipment failure. TMA-2
LHA/LHS-F Quick Change Lever, TLA-2/TLB-2/TLA-1 Standard @ Please make sure to release air from the circuit before adjusting TMA-T
Model No. Thread Size Tightening Torque (N+m) . . . . L
LT0301-F / LGO301F M5%08 75 speed. It will be difficult to adjust the speed accurately with air mixed Work Support
LHA0360-F / LHS0360-F G " in the circuit. LD
LT0360)-F /LGO36L-F @ Turn the speed control valve gradually from the low-speed side Lc
LHAO400-F / LHS0400-F . ) ) TNC
M8X1 33 -
LTO400 / LGO40TF (small flow) to the high-speed side (large flow) to adjust the T
¥ ¥ speed.
LHA0480-F / LHS0480-F M10X125 65 p Air Sensing
LHA_F | LTO48CHF/LGO4BCIF Lift Cylinder
LH—p | LHAGSSO-F/LASOSS0-F M12X15 100~ 114 5) Checking looseness and retightening LLw
LTF LTOS50-F / LGOSSCI-F ° ]
- ¥ ¥ At the beginning of the machine installation, the bolt and nut ma )
LGp | LHAOGSO-F/LHSOBSO-F |\ 160~ 180 he beginning : 2y Compact Cylinder
LT065C-F /LGO6SLI-F be tightened lightly. Check the looseness and re-tighten as required. o
LHAO750-F / LHS0750-F MI6X15 550 ~ 280 LR
LT07500-F /LGO7500-F LU
LHAG900-F / LHS0900-F V202 0 0 6) Notes on dual rod option (-D) for dog application. o
X 500 ~ 54
LGO9OC-F ® When attaching dog, set up the piston so that it will not turn around. DR
LHA1050-F / LHS1050-F :
G105 M24X2 760 ~ 810 Please secure the dog or cam and prevent any rotation or torque on DS
TLO0400-0 M6 13 the piston rod. ot
TLO0600-00 M8X1 32 Torque values for the mounting screw are shown in the table below. )
Ay 1008000 M8x 1 32 Block Cylinder
By  TLD1000C M10X1.25 63 DBA
Tap 7016000 M12X15 100 DBC
TLO2000-00 M14X15 160
TLO2500-00 M16X1.5 250 Control Valve
TLJ4000-[] M20 X2 500 BZL

BZT
@ If the piston rod is subjected to excessive torque or shock, the BZX/)ZG

rod or the internal mechanism may be damaged. Observe the g
) ) Pallet Clamp
following points to prevent such shock. —

VS
During mounting Model No. Thread Size Tightening Torque (N-m) l
. s . — Expansion
(M When the clamp is positioned with LHA0360-0J0ID M4x0.7 32 .
. g P F; | » LHA0400-0I0D M6X 1 10 Locating Pin
xture, determine the lever position, LHA0480-CILD M8 X125 25 VL
and temporarily tighten the nut for LHA0550-00D M8X1.25 25 VM
fixing the lever. LHA0650-C101D M8X 1.25 25 vl
LHA0750-]C1D M10X 1.5 50 VK
@Remove the clamp from a fixture, LHA0900-LI0ID M10x1.5 50
. . LHA1050-00C1D M10X 1.5 50 Pull Stud Clamp
fix the lever by machine vise etc., P
and tighten the nut. FQ
Customized

. . - . . Lo Spring Cylinder
5 . * Installation Notes  + Hydraulic Fluid List * Notes on Hydraulic Cylinder Speed Control Circuit .
% Please refer to P.1043 for common cautions. ) y, } y y P DWA/DWB
* Notes on Handling ~ * Maintenance/Inspection  * Warranty .
446




1043

Cautions

@ Cautions

@ Installation Notes (For Hydraulic Series)

1) Check the Usable Fluid
@ Please use the appropriate fluid by referring to the Hydraulic Fluid List.

2) Procedure before Piping

@ The pipeline, piping connector and fixture circuits should be cleaned
by thorough flushing.

@ The dust and cutting chips in the circuit may lead to fluid leakage
and malfunction.

@ There is no filter provided with Kosmek’ s product except for a part
of valves which prevents foreign materials and contaminants from
getting into the circuit.

3) Applying Sealing Tape

® Wrap with tape 1 to 2 times following the screw direction.

@ Pieces of the sealing tape can lead to oil leakage and malfunction.

@ In order to prevent a foreign substance from going into the product
during the piping work, it should be carefully cleaned before working.

4) Air Bleeding of the Hydraulic Circuit

@ [f the hydraulic circuit has excessive air, the action time may become
very long. If air enters the circuit after connecting the hydraulic port
or under the condition of no air in the oil tank, please perform
the following steps.

(D Reduce hydraulic pressure to less than 2MPa.
@ Loosen the cap nut of pipe fitting closest to the clamp by one full turn.
(3 Wiggle the pipeline to loosen the outlet of pipe fitting.

Hydraulic fluid mixed with air comes out.

@ Tighten the cap nut after bleeding.
® Itis more effective to bleed air at the highest point inside the circuit
or at the end of the circuit.

(Set an air bleeding valve at the highest point inside the circuit.)

5) Checking Looseness and Retightening
@ At the beginning of the machine installation, the bolt and nut may
be tightened lightly. Check the looseness and re-tighten as required.

® Hydraulic Fluid List

1SO Viscosity Grade 1SO-VG-32

Maker Anti-Wear Hydraulic Oil | Multi-Purpose Hydraulic Oil
Showa Shell Sekiyu Tellus S2 M 32 Morlina S2 B 32
Idemitsu Kosan Daphne Hydraulic Fluid 32 | Daphne Super Multi Oil 32
JX Nippon Oil & Energy Super Hyrando 32 Super Mulpus DX 32
Cosmo Ol Cosmo Hydro AW32 | Cosmo New Mighty Super 32
ExxonMobil Mobil DTE 24 Mobil DTE 24 Light
Matsumura Oil Hydol AW-32
Castrol Hyspin AWS 32

Note As it may be difficult to purchase the products as shown in the table from
overseas, please contact the respective manufacturer.



Installation Notes Notes on Hydraulic Cylinder
(For Hydraulic Series)

Hydraulic Fluid List

- N H li Mai | i W
et Gonna dka otes on Handling | Maintenance/Inspection arranty K.SMEK

Harmony in Innovation

High-Power
Series

Pneumatic Series

@ Notes on Hydraulic Cylinder Speed Control Unit

é Please pay attention to the cautions below. Design the hydraulic circuit for controlling the action speed of hydraulic cylinder. Hydraulic Series

Improper circuit design may lead to malfunctions and damages. Please review the circuit design in advance. Valve / Coupler

Hydraulic Unit

® Flow Control Circuit for Single Acting Cylinder In the case of meter-out circuit, the hydraulic circuit should e @
For spring return single acting cylinders, restricting flow be designed with the following points. Accessories
during release can extremely slow down or disrupt release action. (@ Single acting components should not be used in the same
The preferred method is to control the flow during the lock action flow control circuit as the double acting components.
using a valve that has free-flow in the release direction. The release action of the single acting cylinders may become
Itis also preferred to provide a flow control valve at each actuator. erratic or very slow.

Installation Notes
E_ (For Hydraulic Series)
I_O—]\L < V § Hydraulic Fluid List
il i | ydraulic g LSt
7T @ Notes on Hydraulic Cylinder
g |L| Speed Control Circuit

Notes on Handling

Maintenance/

Inspection
Accelerated clamping speed by excessive hydraulic flow to IZI X | }\/\/ Warranty
the cylinder may sustain damage. In this case add flow control to @L"
regulate flow. (Please add flow control to release flow if the Company Profile
lever weight is put on at the time of release action when using Refer to the following circuit when both the single acting W
swing clamps.) cylinder and double acting cylinder are used together. Our Products

O Separate the control circuit.

Flow Control at the Release Side History

........ / B_ Index
i :

Search by
Alphabetical Order

DA ; L© E(’ E(’ E ST

A X} A X} I

N

L L
® Flow Control Circuit for Double Acting Cylinder ®
Flow control circuit for double acting cylinder should have meter-out
circuits for both the lock and release sides. Meter-in control can O Reduce the influence of double acting cylinder control unit.
have adverse effect by presence of air in the system. However, due to the back pressure in tank line, single action
However, in the case of controlling LKE, TMA, TLA, both lock side cylinder is activated after double action cylinder works.

and release side should be meter-in circuit.

Refer to P.47 for speed adjustment of LKE. :":| Aﬁéﬁz

For TMA and TLA, if meter-out circuit is used, abnormal high

pressure is created, which causes oil leakage and damage. E(, E(, E

[Meter-out Circuit] (Except LKE/TMA/TLA)
X

-~

I | @ In the case of meter-out circuit, the inner circuit pressure may
increase during the cylinder action because of the fluid supply.
E(' Ek The increase of the inner circuit pressure can be prevented by
reducing the supplied fluid beforehand via the flow control valve.
II X | }‘N Especially when using sequence valve or pressure switches for
@L-' clamping detection. If the back pressure is more than the set

pressure then the system will not work as it is designed to.

[Meter-in Circuit] (LKE/TMA/TLA must be controlled with meter-in.)
:":I :":I E2N

X Sequence Valve

Flow Control Valve
(Any location is OK)

1044



Cautions

1045

@ Cautions

@ Notes on Handling

1) It should be handled by qualified personnel.

® The hydraulic machine and air compressor should be handled
and maintained by qualified personnel.

2) Do not handle or remove the machine unless the safety protocols
are ensured.

@ The machine and equipment can only be inspected or prepared
when it is confirmed that the preventive devices are in place.

@ Before the machine is removed, make sure that the above-mentioned
safety measures are in place. Shut off the air of hydraulic source
and make sure no pressure exists in the hydraulic and air circuit.

(3 After stopping the machine, do not remove until the temperature
cools down.

@ Make sure there is no abnormality in the bolts and respective parts
before restarting the machine or equipment.

3) Do not touch clamps (cylinder) while clamps (cylinder) is working.
Otherwise, your hands may be injured due to clinching.

X th

4) Do not disassemble or modify.
® If the equipment is taken apart or modified, the warranty will be
voided even within the warranty period.

@® Maintenance and Inspection

1) Removal of the Machine and Shut-off of Pressure Source

® Before the machine is removed, make sure that the
above-mentioned safety measures are in place. Shut off the
air of hydraulic source and make sure no pressure exists in
the hydraulic and air circuit.

@ Make sure there is no abnormality in the bolts and respective
parts before restarting.

2) Regularly clean the area around the piston rod and plunger.

® Ifitis used when the surface is contaminated with dirt, it may
lead to packing seal damage, malfunctioning , fluid leakage
and air leaks.

3) Please clean out the reference surface regularly (taper reference
surface and seating surface) of locating machine .(VS/VT/VL/VM/
VI/VK/WVS/WM/WK/VX/VXF)

@ Location products, except VX/VXF model, can remove
contaminants with cleaning functions.
When installing pallets makes sure there is no thick sludge like
substances on pallets.

® Continuous use with dirt on components will lead to locating
functions not work properly, leaking and malfunction.

X O O

4) If disconnecting by couplers on a regular basis, air bleeding

should be carried out daily to avoid air mixed in the circuit.

5

=

Regularly tighten nuts, bolts, pins, cylinders and pipe line to
ensure proper use.

6

=

Make sure the hydraulic fluid has not deteriorated.

7

® Especially when it is restarted after left unused for a long

-

Make sure there is smooth action and no abnormal noise.

period, make sure it can be operated correctly.

8

=

The products should be stored in the cool and dark place
without direct sunshine or moisture.

9

=

Please contact us for overhaul and repair.



Installation Notes . - Notes on Hydraulic Cylinder . . .
(For Hydraulic Series) Hydraulic Fluid List Speed Control Circuit Notes on Handling | Maintenance/Inspection Warranty K.SMEK

Harmony in Innovation

® Warranty

1) Warranty Period
@ The product warranty period is 18 months from shipment from
our factory or 12 months from initial use, whichever is earlier.

2) Warranty Scope

@ If the product is damaged or malfunctions during the warranty
period due to faulty design, materials or workmanship, we will
replace or repair the defective part at our expense.
Defects or failures caused by the following are not covered.

@ If the stipulated maintenance and inspection are not carried out.

@ If the product is used while it is not suitable for use based on
the operator’ s judgment, resulting in defect.

@ Ifitis used or handled in inappropriate way by the operator.
(Including damage caused by the misconduct of the third party.)

@ If the defect is caused by reasons other than our responsibility.

® If repair or modifications are carried out by anyone other than Kosmek,
or without our approval and confirmation, it will void warranty.

® Other caused by natural disasters or calamities not attributable to
our company.

@ Parts or replacement expenses due to parts consumption and
deterioration.

(Such as rubber, plastic, seal material and some electric components.)

Damages excluding from direct result of a product defect shall be
excluded from the warranty.

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Installation Notes
(For Hydraulic Series)

Hydraulic Fluid List

Notes on Hydraulic Cylinder
Speed Control Circuit

Notes on Handling

Maintenance/
Insp

Company Profile
Company Profile
Our Products

History

Index

Search by
Alphabetical Order

Sales Offices

1046



Control Valve

Model BZL
Model BZT
Model BZX
Model JZ G

Directly mounted to clamps, flow control valve « Air bleeding * plug

® Directly mounted to clamps

Flow control valve, air bleeding valve, G-thread plug for
G-thread (-C option) directly mounted.

G Thread Plug

)
N——

Adjusting Screw

Lock Nut
Speed Control Valve
Speed Control Valve Air Bleed Valve G Thread Plug
Model BZL Model BZX Model JZG

Model BZT

727



Control Valve
Digest KOSMEK

Harmony in Innovation

High-Power

X Series
Operating

Pressure Range

Speed Control Valve Adjust the flow by wrench.
(For Low Pressure)

It can adjust the clamping action speed individually. Valve /Coupler
Hydraulic Unit

Action Description o
Pneumatic Series

Manual Operation
Accessories

Model BZL 7MPa or less Clamps Cautions / Others

- P.729 —
/

Hole Clamp

— Flow Control SFA

- O SFC

4 Swing Clamp

— LHA
LHC

Speed Control Valve LHS

(For High Pressure) LHW

Air bleeding in the circuit is possible LT/LG
. TLA-2
by loosening flow control valve. o

TLA-1

Model BZT 35MPa or less
— P.733

Link Clamp
LKA
LKC
LKW
LM/LJ
TMA-2
TMA-1

Work Support
. LD
Air Bleed Valve LC

Air bleeding in the circuit is possible by wrench. TNC
TC

Air Sensing
Lift Cylinder

LLW

Compact Cylinder

LL
Model BZX 25MPa or less LR

— P.735 LLU
DP
DR
DS

DT

Block Cylinder
DBA
DBC

G Thread Plug

Air bleeding in the circuit is possible
by loosening G thread plug.

Pallet Clamp
VS
VT

Expansion

ModeIJZG 35MPa or less Locating Pin

- P.737 VL
VM

V)
VK

Pull Stud Clamp
FP
FQ

Customized
Spring Cylinder

DWA/DWB

728




729

Control Valve speed Control Valve (For Low Pressure) model BZL
© Model No. Indication (Speed Control Valve for Low Pressure)
1
G Thread Size
10 : Thread Part G1/8A Thread
20 : Thread Part G1/4A Thread
Thread Part
30 : Thread Part G3/8A Thread
Design No.
0 : Revision Number
Control Method
A : Meter-in A B
B : Meter-out Circuit Symbol : Meter-in Circuit Symbol : Meter-out
P1 port P1 port
Hydraulic Pressure P2 Port Hydraulic Pressure P2 Port
Supply Side Clamp Side Supply Side Clamp Side
© Specifications
Model No. BZLO100-A BZL0200-A BZL0300-A BZL0100-B BZL0200-B BZL0300-B
Max. Operating Pressure MPa 7
Withstanding Pressure MPa 10.5
Control Method Meter-in Meter-out
G Thread Size GI/sA | GI/AA | G3/8A GlI/sA | GI/AA | G3/8A
Cracking Pressure MPa 0.04 0.12
Max. Passage Area mm? 26 ‘ 5.0 ‘ 11.6 2.6 ‘ 5.0 ‘ 10.2
Usable Fluid General Hydraulic Oil Equivalent to ISO-VG-32
Operating Temperature C 0~70
Tightening Torque for Main Body N-m 10 ‘ 25 ‘ 35 10 ‘ 25 ‘ 35

Notes 1.

2. It must be mounted with recommended torque. Because of the structure of the metal seal,
if mounting torque is insufficient, the flow control valve may not be able to adjust the flow rate.
3. Don't use used BZL to other clamps.
Flow control will not be made because the bottom depth difference of G thread makes metal seal insufficient.

Minimum passage area when fully opened is the same as the maximum passage area in the table above.



Control Valve
Digest

Model No.
Indication

Specifications

Applicable
Products

Flow Rate Graph

External
Dimensions

@ Applicable Products
Model No. DBA (Single Action) | DBC (Single Action) | LC (Single Action) | LHA (Double Action) | LHC (Double Action) | LHE (Double Action) | LHS (Double Action) |LHW (Double Action)
Block Cylinder | Block Cylinder | Work Support | Swing Clamp | Swing Clamp | High-Power SwingClamp | Swing Clamp | Swing Clamp
(DBA0250-C[]) | (DBC0250-CL) | LC0402-COC-D | (LHA0360-COC-0) | (LHC0360-COC-0) (LHS0360-COC-0) | (LHWO0400-COC-0)
BZLO100-A (DBA0320-CLJ) (DBC0320-CL) | LCO482-COII-C | (LHA0400-COC-0) | (LHCO400-COII-) (LHS0400-COC-0) | (LHW0480-CC-0)
LC0552-COTI | (LHA0480-COC-0) | (LHC0480-COIC-) (LHS0480-CO0-0) | (LHW0550-CO0-0)
LC0652-COTHT | (LHA0550-CC-0) | (LHC0550-COC-0) (LHS0550-COC-0)
DBA0250-CLI DBC0250-C[I LHA0360-COC-0 | LHC0360-COC-0 | LHE0300-CLI | LHS0360-COC-O | LHWO0400-COC-0
DBA0320-CLI DBC0320-CCI LHA0400-COC-0 | LHC0400-COC-0 | LHE0360-CLI | LHS0400-COC-O | LHWO0480-COC-O
BZL0100-B LHA0480-COC-0 | LHC0480-CLC- | LHE0400-CO | LHS0480-COC-D | LHWO0550-COC-0
LHA0550-COC-0 | LHC0550-CC-0 | LHE0480-CO | LHS0550-CL-
LHE0550-C[]
BZL0200-A (DBA0400-C[)) | (DBC0400-C[)) | LCO752-COCI | (LHA0650-COIC-D) | (LHC0650-COCM) (LHS0650-CC0H) | (LHW0650-CCIC-C)
(DBA0500-C[]) | (DBC0500-CL)) | LC0902-COCHI | (LHA0750-CLIC-D) (LHS0750-CLCH0)
B710200-B DBA0400-CLI DBC0400-C[I LHA0650-CC-0 | LHC0650-CLIC- LHS0650-COC-0 | LHWO0650-COC-0
DBA0500-C[J DBC0500-C[I LHA0750-CC-0 LHS0750-C0-0
BZL0300-A (LHA0900-CIC-0) (LHS0900-C-0)
(LHA1050-CLC-0) (LHS1050-CCD)
B710300-B LHA0900-CLIC- LHS0900-CIC-0
LHA1050-COC-0 LHS1050-CO0-0
Model No. LT/LG (Single Action) | LKA (Double Action) | LKC (Double Action) | LKE (Double Action) | LKW (Double Action) | LM/LJ (Single Action) | LL (Double Action) | LLR (Double Action)
Swing Clamp Link Clamp Link Clamp | High-PowerLinkClamp |  Link Clamp Link Clamp | Linear Cylinder | Linear Cylinder
LT0360-C[] | (LKA0360-CLIC-)| (LKC0400-CC-0) | LKE0300-CO |(LKWO0400-COC-0))  LM0360-CO | (LL0360-COC-0) | (LLRO360-COC-C-)
LT0400-C] | (LKA0400-CLIC-)| (LKC0480-CC-0) |  LKE0360-CO  |(LKWO0480-COC-0)|  LM0400-C | (LL0400-COC-D) | (LLRO400-COC-C)
BZL0100-A LT0480-CJ  |(LKA0480-CCC-0)| (LKCO550-C-0) LKE0400-CJ  |(LKW0550-COC-0))  LM0480-CL0 | (LL0480-COC-) | (LLR0480-CCIC-C)
LT0550-C0 | (LKA0550-CCCD) LKE0480-CL] LM0550-C0 | (LLO550-CIC-0) | (LLROSS0-CCICCD)
LKE0550-CLJ
LKA0360-COT-0 | LKC0400-CL-1 LKW0400-CO0-0 LL0360-COC0-0 | LLRO360-COCOO
LKA0400-CLCHI | LKC0480-CL- LKW0480-CLIC-] LL0400-COC-I | LLRO400-COC-OI
BZLOTO0-B LKA0480-CI-0 | LKC0550-CL-0 LKW0550-C0-0 LL0480-COC-0 | LLRO480-COC-CHD
LKA0550-C0-0 LL0550-CO0-0 | LLR0550-COC00
BZL0200-A LT0650-CJ | (LKA0650-COI0-) | (LKC0650-CL-0) (LKW0650-CC-0)| - LM0650-CTI | (LL0650-CCIC-) | (LLRO650-COT-0-0)
LT0750-C | (LKA0750-CCIC-0) LMO0750-C[0J | (LLO750-CL0HD) | (LLRO750-COIC-C-)
B7L0200.-B LKA0650-CI- | LKC0650-CL-0 LKW0650-C0-0 LL0650-CO0-0 | LLRO650-COC-CHD
LKA0750-C0-0 LL0750-CO0-0 | LLRO750-COC-00
BZL0300-A LG0900-C | (LKA0900-CCO) 1J0902-CJ | (LLO900-COICHT) | (LLRO9OO-CIC-C-)
LG1050-C | (LKA1050-CC0) LJ1052-C[J (LL1050-CLIC-) | (LLR1050-CIC-C-0)
LKA0900-CICHT LL0900-CO0-O | LLRO90O-COC-CHD
BZL0300-B
LKA1050-CO0-0 LL1050-CO0-0 | LLR1050-COC-00
LLW (Double Action)
Model No. . .
Lift Cylinder
(LLWO0360-COC-0)
BZL0O100-A | (LLW0400-COC-0)
(LLWo0480-COC-0)
LLW0360-CO0-0
BZL0100-B | LLW0400-COC-0
LLW0480-COC-0
Note 1. Flow control circuit for double acting cylinder both should have meter-out circuits for the locking side

and release side except model LKE/TLA/TMA.

Meter-in controls can be adversely affected by any air in the system.

Harmony in Innovation

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Hole Clamp
SFA
SFC

Swing Clamp
LHA
LHC
LHS
LHW
LT/LG
TLA-2
TLB-2
TLA-1

Link Clamp
LKA
LKC
LKW
LM/LJ
TMA-2
TMA-1

Work Support
LD
LC
TNC
TC

Air Sensing

Lift Cylinder
LLW

Compact Cylinder
LL
LLR
LLU
DP
DR
DS
DT

Block Cylinder
DBA
DBC

Control Valve

BZL
BZT
BZX/JZG

Pallet Clamp
VS
VT

Expansion

Locating Pin
VL
VM
V)
VK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

730



731

Control Valve speed Control Valve (For Low Pressure)

© Flow Rate Graph < Hydraulic Fluids 1SO-VG32 (25~35°C) >

model BZL

BZL0100-A : Meter-in

Controlled Flow Direction

BZL0200-A : Meter-in

Controlled Flow Direction

BZL0300-A : Meter-in

Controlled Flow Direction

Pressure Loss (MPa)

Pressure Loss (MPa)

10 25 35
_‘_‘_‘_ _‘_‘_‘_ 30
jg 8 Pressure Loss 5Mp€ ,/ ’g 20 Pressure Loss 5% 'g 25 (Pressure Loss 5MPa A
7
26 /'/ 215 220 P Lo 3wpa ) Y
I Pressure Loss 3MPa g Pressure Loss 3MPa 9 ([ressure Loss aTJ 4
I o] _ 515 I A 7
< 4 / — < 10 / ” o I ) )S//
2 Pressure Loss 1MPa 2 Pressure Loss TMPa 210 Pressure Loss 1MPa / —]
g, (Presure Los 1 Qg,/,/ 3 sure Lo 3,/ o |2" o
0 0 0
0 1 2 3 4 0 1 2 3 4 0 1 2 3 4
Closed  Number of Turns of Adjusting Screw  Opened—> «Closed  Number of Turns of Adjusting Screw  Opened—> Closed  Number of Turns of Adjusting Screw  Opened—>
Y Y
Free Flowing Direction Free Flowing Direction Free Flowing Direction
10 25 35
- Fully Opened — o Fully Opened 30 {Fully Opene}d&/
£ £ £
€ £ £25 -
36 // - 315 - QZO / _d--
7 pd ~e 2 j--- g -
S 4 --f S _ -= "7 <15 /-‘ -
':; // _4-" (Fully Closed a; 0 /_ _--r Fully Closed Q;: 10 ‘4— [F:JIIy Closed)
9] P o - L r
i) B4 ] 2 | £
& 0 0
0 1 2 3 4 5 6 0 1 2 3 4 5 6 0 1 2 3 4 5 6
Pressure Loss (MPa) Pressure Loss (MPa) Pressure Loss (MPa)
BZL0100-B : Meter-out BZL0200-B : Meter-out BZL0300-B : Meter-out
Controlled Flow Direction Controlled Flow Direction Controlled Flow Direction
10 25 35 ‘ ‘ ‘
N [T ] Am T o
£ Pressure Loss 5SMPa £ Pressure Loss 5MPa | £ ressure Loss a
§ PR IS N\ 1| |82 s
36 / 315 290 N ]
2 Pressure Loss 3Mpa%/ 2 %m/n o I Press‘ure Loss 3MPav] //
c 4 < 10 I o3 I 4
_% , Pressure Loss 1MPa 4 | _% s [Pr‘essure‘ Loss 1‘MP‘a_] / //__ _% 10 [—Pressure Loss 1MPa g /’/
e 3' [ 7 L7 “ 5
//
0 0 0 o
0 1 2 3 4 0 1 2 3 4 0 1 2 3 4
«Closed  Number of Turns of Adjusting Screw  Opened— «Closed Number of Turns of Adjusting Screw  Opened—> «Closed  Number of Turns of Adjusting Screw - Opened—
Free Flowing Direction Free Flowing Direction Free Flowing Direction
10 25 35 ‘
. Fully Opened . A—‘ﬁ 30
z8 = g2 (v openci) S5s| (Fayopenea)
£ S £ 7 oo
26 - 315 220 - B
ﬁ 4 ~ === _ :FKH_—CIE 5 10 ’/ = "\—_- s 5 15 //* g ‘?Gllyclosed
- ui Ose - .
_% /4— 1 Y _g //_ L=~ Fully Closed 3 10 /, -
T 2 # o 5 T w /’
/ /- 5/
o0& 0L 0
0 1 2 3 4 5 6 0 1 2 3 4 5 6 0 1 2 3 4 5 6

Pressure Loss (MPa)




Control Valve Model No. Applicable External
Digest Indication

Specifications

Products Al EEel Dimensions K.SMEK

Harmony in Innovation

. . High-Power
@ External Dimensions Series

Pneumatic Series

Adjusting Screw (Clamp/Cylinder)

M Screw
Exclusive Packing G Thread Valve/Coupler

(IndUdV Hydraulic Unit
Manual Operation

NETE <%
p— ) Accessories
G g =
T g g = E L Cautions / Others
\\Y - \ 5 / D P2 Port
Hex.Sodket L ) f \ | LS Clamp Side
y Hole CI
N 7 h % ole Sa:/lp
CLOSE TR e
Hexagon K max.H D
Hexagon A max.C F Swing Clamp
P1 Port LHA
Hydraulic Pressure LHC
Supply Side (mm) hs
Model No. BZL0100-[] BZL0200-[] BZL0300-[] LHW
A 14 18 22 LT/LG
© Machining Dimensions of Mounting Area B 155 20 24 2
TLB-2
C 15 16 19 LA
D 12 13 16
N—8410 E 8.5 9.5 11 Link Clamp
U Thread min.P F (11.6) (15.1) (17.6) LKA
o]z (Prepared Hole o T G G1/8 G1/4 G3/8 LKC
Flat Bottom) P2 Port LKW
- H 3 3 3
R Clamp Side LM/LJ
J 35 35 5 TMA2
07 K 10 10 13 TMA-1
A = L 3 3 4
£l ¥ e g M M6X0.75 M6 0.75 M8X0.75 Work Support
£l E e %4 N 15 15 175 =
i P 85 17 13 e
‘ ‘ Q 9 11.5 13 TC
bV P1 Port R (Flat Surface Area) 16 20.5 245 Air Sensing
Q Hydraulic Pressure S 10 13.5 17 Lift Cylinder
Supply Side T 8.7 15 15 L
u G1/8 G1/4 G3/8 Compact Cylinder
v 2~3 3~4 4~5 S
w 25~5 35~7 45~9 LLR
LLU
Notes DP
1. Since the /v area is sealing part, be careful not to damage it. DR
2. Since the WA/ area is the metal sealing part of BZL, be careful not to damage it. (Especially when deburring) Ds
) ) . DT
3. No cutting chips or burr should be at the tolerance part of machining hole.
4. As shown in the drawing, P1 port is used as the hydraulic supply and P2 port as the clamp side. Block Cylinder
5. If mounting plugs or fittings with G thread specification available in the market, the dimension 31" should be 12.5. DBA
DBC
© Notes
BZL
1. Please read "Notes on Hydraulic Cylinder Speed Control Circuit" to assist with proper hydraulic circuit design. BZT
BZX/JZG

If there is something wrong with the circuit design, it leads to the applications malfunction and damage. (Refer to P.1044)

2. Itis dangerous to air bleed during operation under high pressure. It must be done under lower pressure. Pallet Clamp
'S

(For reference: the minimum operating range of the product within the circuit.) VT

Expansion
Locating Pin

VL
VM
V)
VK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

732



Control Valve AirBleed Valve

@ Model No. Indication (Air Bleed Valve)

BZXOO
0
(12|

G Thread Size

model BZX

1 : Thread Part G1/8A Thread

2 Thread Part G1/4A Thread
3 Thread Part G3/8A Thread

Design No.

Thread Part

0 : Revision Number

© Specifications
Model No. BZX010 |  BZX020 |  BZX030
Max. Operating Pressure MPa 25
Withstanding Pressure MPa 375
G Thread Size GI/sA | GI/AA | G3/8A
Usable Fluid General Hydraulic Oil Equivalent to ISO-VG-32
Operating Temperature C 0~70
Tightening Torque for Main Body N-m 10 ‘ 25 ‘ 35

Notes

1. Do not over loosen the plug during air venting.
(Do not loosen for more than 2 turns from the fully closed position.)

® Circuit Symbol

2. Itis dangerous to have air venting operation under high pressure. It must be done under lower pressure.
(For reference: the minimum operation pressure range of the product within the circuit)
3. Refer to the processing dimensions for BZL mounting area.

© Applicable Products

DBA (Single Action)

DBC (Single Action)

LC (Single Action)

LHA (Double Action)

LHC (Double Action)

LHE (Double Action)

LHS (Double Action)

LHW (Double Action)

Modef No. Block Cylinder | Block Cylinder | Work Support | Swing Clamp | Swing Clamp | High-Power SwingClamp | Swing Clamp | Swing Clamp
DBA0250-CC DBC0250-C0] | LCO402-CO0J | LHA0360-COC-0 | LHC0360-COC- | LHE0300-CO | LHS0360-CCC-C | LHWO0400-COC-D
DBA0320-CLI DBC0320-COI LC0482-COC-0 | LHA0400-COC-I | LHCO400-CLOCC LHE0360-CLJ LHS0400-CIC-0 | LHWO0480-COCH]
BZX010 LC0552-CO00 | LHA0480-COC-0 | LHC0480-COC- | LHE0400-CTJ | LHS0480-COC-0 | LHW0550-COC-0
LC0652-COTI | LHA0550-COC-D | LHCO550-CCC-C | LHE0480-CO | LHS0550-CLIC-
LHE0550-CT]
DBA0400-CLI DBC0400-CLI LC0752-COC0 | LHA0650-COC-I | LHC0650-CLC- LHS0650-CLIC- | LHWO0650-CCH]
BZX020 DBA0500-CLl DBC0500-CL] | LC0902-CLOC | LHA0750-CCC-C LHS0750-COC-0
LHA0900-CIC- LHS0900-CCC-C
BZX030
LHA1050-CCC-C LHS1050-COC-0
Model No. LT/LG (Single Action) | LKA (Double Action) | LKC (Double Action) | LKE (Double Action) | LKW (Double Action) | LM/LJ (Single Action) |  LL (Double Action) | LLR (Double Action)
Swing Clamp Link Clamp Link Clamp | High-Power LinkClamp |  Link Clamp Link Clamp | Linear Cylinder | Linear Cylinder
LT0360-C[] LKA0360-CIC- | LKC0400-CLHI LKE0300-C[J | LKW0400-COC-I | LM0360-C[] LL0360-CLC-C | LLRO360-COC-CH
LT0400-C[J | LKA0400-CC- | LKC0480-CL- LKE0360-CL] | LKW0480-CL-J | LMO0400-C[J | LL0400-CL-J | LLRO400-COCHC-D
BZX010 LT0480-CJ | LKA0480-CO-D | LKC0550-CC-C LKE0400-CL) | LKWO0550-COCMI | LM0480-CL | LL0480-COCMI | LLR0480-COO-CC
LT0550-C[] LKA0550-CLIC-] LKE0480-C[J LM0550-C[] LL0550-CLC- | LLROSS0-COC-CH0
LKE0550-C[]
B7%020 LT0650-C] | LKA0650-COC-0 | LKC0650-CL-0 LKW0650-CL-0 | LM0650-CLI | LL0650-CL- | LLRO650-COC-CC
LT0750-CJ | LKA0750-COC00 LM0750-C0 | LLO750-COC-0 | LLRO750-COCC-O
BZX030 LG0900-C[I | LKA0900-CLIC-J LJ0902-C[J LL0900-CC-I | LLRO90O-COC-C-I
LG1050-C[0 | LKA1050-CLIC-0 LJ1052-C LL1050-COO-0 | LLR1050-COC-C0
LLW (Double Action)
Model No. i .
Lift Cylinder
LLW0360-CLC-C
BZX010 LLW0400-COC-O
LLW0480-CLIC-

735




Control Valve
Digest P.727

Model No. Indication Specifications Applicable Products External Dimensions

Harmony in Innovation

@ External Dimensions

Lock Nut
M6 (3 types)

Plu
Méx1

Exclusive Packing (Included)

G Thread

™~

BV

Hexaggn_Syodm
Hexagon 10

Hexagon A

¢B

10.5

(Clamp / Cylinder)

(mm)

Model No.

BZX010

BZX020

BZX030

A

14

18

22

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve /Coupler
Hydraulic Unit

| Operation

15.5

20

24

19.8

20.6

20.6

9.3

10.1

10.1

5.5

6.3

6.3

OmO|N|®m

G1/8

G1/4

G3/8

Accessories

Cautions / Others

Hole Clamp

SFA
SFC

Swing Clamp
LHA
LHC
LHS
LHW
LT/LG
TLA-2
TLB-2
TLA-1

Link Clamp
LKA
LKC
LKW
LM/LJ
TMA-2
TMA-1

Work Support
LD
LC
TNC
TC

Air Sensing

Lift Cylinder
LLW

Compact Cylinder
LL
LLR
LLU

Block Cylinder
DBA
DBC

Control Valve

BZL
BZT

BZX/JZG

Pallet Clamp
VS
VT

Expansion

Locating Pin
VL
VM
V)
VK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

736



Control Valve GThread Plug

© Model No. Indication (G Thread Plug with Air Bleeding Function)

JZGO o
0
(12 ]

model JZG

G Thread Size
1 : Thread Part G1/8A Thread
2 Thread Part G1/4A Thread
Thread Part
3 Thread Part G3/8A Thread
Design No.
0 : Revision Number
© Specifications
Model No. JZGo10 | JzG020 | JZG030
Max. Operating Pressure MPa 35
Withstanding Pressure MPa 42
G Thread Size GI/BA | GI/AA | G3/8A
Usable Fluid General Hydraulic Oil Equivalent to ISO-VG-32
Operating Temperature C 0~70
Tightening Torque for Main Body N-m 10 ‘ 25 ‘ 35

Notes

(For reference: the minimum operation pressure range of the product within the circuit)

© Applicable Products

2. Refer to the processing dimensions for BZL mounting area.

1. Itis dangerous to have air venting operation under high pressure. It must be done under lower pressure.

DBA (Single Action)

DBC (Single Action)

LC (Single Action)

LHA (Double Action)

LHC (Double Action)

LHE (Double Action)

LHS (Double Action)

LHW (Double Action)

Modef No. Block Cylinder | Block Cylinder | Work Support | Swing Clamp | Swing Clamp | High-Power SwingClamp | Swing Clamp | Swing Clamp
DBA0250-CC DBC0250-C1 | LC0402-CCOC-D | LHA0360-COC-0 | LHC0360-CLIC- LHE0300-CO) | LHS0360-CC-0 | LHWO0400-CC-0
DBA0320-C[] DBC0320-C LC0482-C- | LHA0400-COC- | LHC0400-COICH LHE0360-CL] LHS0400-COC-C | LHW0480-COC-
JZG010 LC0552-CO0-0 | LHA0480-COC- | LHC0480-COCHI LHE0400-C[J LHS0480-CLIC- | LHWO0550-CCH]
LC0652-COHT | LHA0550-COC-0 | LHCO550-COC-0 LHE0480-C) | LHS0550-COC-0
LHE0550-CO)
126020 DBA0400-C[ DBC0400-CC | LCO752-COT-0 | LHA0650-COC-O | LHC0650-CO0-0 LHS0650-COC-0 | LHWO0650-COC-]
DBA0500-C[] DBC0500-C0 | LC0902-COC-0 | LHA0750-COC-0 LHS0750-COC-0
LHA0900-CLIC-0 LHS0900-COC-0
J7G030
LHA1050-CC-0 LHS1050-COC-0
Model No. LT/LG (Single Action) | LKA (Double Action) | LKC (Double Action) | LKE (Double Action) | LKW (Double Action) | LIM/LJ (Single Action)|  LL (Double Action) | LLR (Double Action)
Swing Clamp Link Clamp Link Clamp | High-PowerLinkClamp | Link Clamp Link Clamp | Linear Cylinder | Linear Cylinder
LT0360-C[] LKA0360-CO-J | LKC0400-CL- LKE0300-C[J | LKW0400-CLC- | LM0360-C[J LL0360-CLC-C | LLR0O360-COC-CH]
LT0400-C[] LKA0400-CO-0 | LKC0480-CI-0 LKE0360-C] | LKW0480-CLC-C |  LM0400-C[J LL0400-COC-D | LLRO400-COC-HI
JZG010 LT0480-C[J | LKA0480-COC- | LKC0550-CC- LKE0400-C[J | LKWO550-COC-0 | LM0480-CL LL0480-CO0-D | LLRO480-COC-CD
LT0550-CJ | LKAO550-C0 LKE0480-C[] LMO0550-C[] LLO550-CO0-0 | LLRO550-COC-CD
LKE0550-C[]
176020 LT0650-C] | LKA0650-COC- | LKC0650-CL- LKW0650-CO0C | LM0650-CO LL0650-CO0D | LLRO650-COC-CD
LT0750-C0 | LKA0750-CO0-0 LM0750-C[J LL0750-CO00 | LLRO750-COC-0O
126030 LG0900-C | LKA0900-CO-0 1J0902-C[) LL0900-CO0-D | LLRO90O-COIC-CD
LG1050-C00 | LKA1050-CO0-0 LJ1052-C0) LL1050-CO00 | LLR1050-COC-CD
Model No. LLW (Double Action) | TLA-2 (Double Action) | TLB-2 (Double Action) | TLA-1 (Single Action) | TMA-2 (Double Action) TMA-1 (Single Action)
Lift Cylinder | Swing Clamp | Swing Clamp | Swing Clamp Link Clamp Link Clamp
LLW0360-CLC- | TLA0401-2CC- | TLB0401-2C[-J TLA0402-1CTJ TMA0250-2CC1 | TMA0250-1C[J
176010 LLW0400-COC-0 | TLA0601-2CC-0 | TLBO601-2CL-0) | TLA0602-1CC) | TMAO0400-2CL) | TMA0400-1CL
LLW0480-COC-0] | TLA0801-2CC-0 | TLB0801-2CL-0 | TLA0802-1CC) | TMAO0600-2CC) | TMA0600-1CL
TLA1001-2CC- | TLB1001-2C[HI TLA1002-1C TMA1000-2CC1 | TMA1000-1CLJ
TLA1601-2CC-0 | TLB1601-2C[-0 TLA1602-1CJ
TLA2001-2CC-0 | TLB2001-2C-0 TLA2002-1C0 TMA1600-2CJ | TMA1600-1C[
JZG020 TLA2501-2CC-0 | TLB2501-2CC-0 | TLA2502-1CC0 | TMA2500-2CC0 | TMA2500-1C
TLA4001-2CC-0 | TLB4001-2CC0 | TLA4002-1C0 | TMA3200-2CC] | TMA3200-1C0

737



Control Valve
Digest P.727

Model No. Indication Specifications Applicable Products External Dimensions K.SMEK

Harmony in Innovation

. . High-Power
@ External Dimensions Series

Pneumatic Series

Hydraulic Series

(mm) Valve / Coupler
Model No. 17G010 17G020 J7ZG030 Hydraulic Unit

A 14 18 22 M | Operation
35 4.5 4.5 Accessories
8 9 10
5 6 8
G1/8A G1/4A G3/8A

Exclusive Packin
_ (Included)

DA

G Thread

Cautions / Others

OO N w

Hexagon Socket
D

Hole Clamp

B C SFA
SFC

Swing Clamp
LHA
LHC
LHS
LHW
LT/LG
TLA-2
TLB-2
TLA-1

Link Clamp
LKA
LKC
LKW
LM/LJ
TMA-2
TMA-1

Work Support
LD
LC
TNC
TC

Air Sensing

Lift Cylinder
LLW

Compact Cylinder
LL
LLR
LLU

Block Cylinder
DBA
DBC

Control Valve

BZL
BZT

BZX/JZG

Pallet Clamp
VS
VT

Expansion

Locating Pin
VL
VM
V)
VK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

738



Manifold Block

model WHZ-MD
Model LZY'MD
Model LZ-MS
Model LZ-MP
Model TMZ'1 MB
Model TMZ-2MB
Model DZ-MGL]
Model DZ-MS[]

® Manifold Block

The mounting height of clamp is adjustable with the manifold block.

Manifold Block

Manifold Block

Fixture Base

1023



Manifold Block Manifold Block
Applicable Model/Application Examples| Model No. Indication/External Dimensions K.SMEK

Harmony in Innovation

High-Power
Series

Applicable Model

Pneumatic Series
Manifold Block Model No. Corresponding Item Model No.

Hydraulic Series

Model WCA Model WHA Valve / Coupler
Model W H Z - M D Hydraulic Unit

ModeIWCE Model WHE
Manual Operation
Accessories

Model LKA Model LKE Model LHC Model LHS .
Model LZY_ M D Cautions / Others
Model L KC Model L H A Model LH E Model L L

Screw Locator

Model LM Model LT VXF

Manual Expansion
Model LJ Model LG Locating Pin

Model LZ'MS

VX

Modet LZ-MP Model LC model T C

LZ-MS

s —
Model TMZ'1MB ModeITMA'1

TMZ-1MB
TMZ-2MB

Model TMZ'ZMB ModeITMA'Z

Manifold Block /
Nut

DZ-R

Dz-C

Model DZ'MGD/MSD ModeIDP DZ-pP

DZ-B

LZ-S

LZ-SQ
Application Examples Tnzs
TNZ-SQ

® Work Support (LC) Application Example
Pressure Switch

Manifold Block (LZ[J-MP Xthree pieces) I

This drawing shows Wsurface is machined by customer one out of three pieces

Pressure Gauge

Manifold Block (LZC]-MP X one piece) JGA/JGB

Manifold

X
LC

Coupler Switch
Standard Mountin pS

J G-Thread Fitting

\_Fixture Base

® Push Cylinder (DP) Application Example

DP-AL] DZ-MGO

Fixture Base

7

1024



Manifold Block model WHZ-MD/LZY-MD/LZ-MS/LZ-MP

@ Manifold Block for WCA/WCE/WHA/WHE

1025

C A0
K 4-9R Q
O
Model No. Indication ﬁ
WHZ 048 0 - MD @/ \65 .
Size 1 Design No. $°
(Refer‘to (Revision Number) x o %
following table) =
KJ Z| - C0.6 C0.6
N Ry Ry
Ny | [Ny Z Surface (Included)
(mm)
Model No. WHZ0600-MD WHZ0320-MD WHZ0400-MD WHZ0500-MD WHZ0630-MD
Corresponding Item WCE0601 WCAO0321 WCE1001 | WCA0401 WCE1601 | WCA0501 WCE2501 | WCA0631 WCE4001
Model Number WHE0600 WHA0320 WHE1000 | WHA0400 WHE1600 | WHA0500 WHE2500 | WHA0630 WHE4000
A 23 25 27 31 35
B 54 60 67 77 88.5
C 45 50 58 68 81
D 40 46 54 64 77
H 31.5 35 38 43 48
J 22.5 25 29 34 40.5
K 34 39 45 53 65
Nx 26 28 31 36 41
Ny 9 10 13 15 20
R 5.5 5.5 5.5 6.5 6.5
O-ring 1BP5 1BP7 1BP7 1BP7 1BP7
Mass kg 0.1 0.1 0.1 0.2 0.2
Notes 1. Material:A2017BE-T4
2. Mounting bolts are not provided. Prepare mounting bolts according to the mounting height using the A dimensions as a reference.
3. If thickness other than A is required, perform additional machining on surface Z. Please refer to the drawing.
©Manifold Block for LKA/LKC/LKE/LHA/ B 46K o1
LHC/LHE/LHS/LL J b
Model No. Indication r—)‘
LZY |048/0 - MD Gy\é . )
Size 1 Design No. ?O
;Refer o (Revision Number) - < %
ollowing table)
Q& JG} O w 0.6 C0.6
H L Surface (Included)
(mm)
Model No. LZY0360-MD | LZY0400-MD | LZY0480-MD | LZY0550-MD | LZY0650-MD | LZY0750-MD | LZY0900-MD | LZY1050-MD
LKA0360/ LKE0360 | LKAO400/LKC0400 | LKA0480/LKC0480 | LKA0550/LKC0550 | LKA06S0/LKC0650 | LKAO750 LKA0900 LKA1050
Corresponding Item |LHA0360/LHC0360 | LKEQ400/ LHAO400 | LKEO480/ LHA0480 | LKE0550/ LHA0550 | LHA0650/ LHC0650 LHA0750 LHA0900 LHA1050
Model Number | 4£g360,/ LHS0360 |LHC0400/ LHE0400 | LHC0480/ LHE0480 | LHC0550 / LHE0S50 LHS0650 LHS0750 LHS0900 LHS1050
LL0360 LHS0400/LL0400 | LHS0480/LL0480 | LHS0550/LL0550 LLO650 LLO750 LLO900 LL1050
A 49 54 61 69 81 92 107 122
B 40 45 51 60 70 80 95 110
C 20 20 27 30 32 37 45 50
D 36 40 48 55 65 75 90 105
E 29 315 35.5 39 46 52 59.5 67
F 20 22.5 25.5 30 35 40 47.5 55
G 23.5 26 30 335 39.5 45 525 60
H 16 18 22 24 30 32 37 45
J 314 34 40 47 55 63 75 88
K 4.5 55 5.5 6.8 6.8 9 1 14
O-ring 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7
Mass kg 0.2 0.2 0.3 0.4 0.5 0.8 1.2 1.7

Notes

1. Material :545C

2. Mounting bolts are not provided. Prepare mounting bolts according to the mounting height using the C dimensions as a reference.
3. If thickness other than Cis required, perform additional machining on surface L. Please refer to the drawing.



Manifold Block
Model No. Indication/External Dimensions

Manifold Block
Applicable Model/Application Examples

Harmony in Innovation

©Manifold Block for LM/LJ/LT/LG ; con Sertes
4-¢) -
H R $ Pneumatic Series
Model No. Indication ﬁ
L Z O 4 8 O M S @ é Hydraulic Series
P ’ /\ - So Valve / Coupler
ﬁklezf:rto 1 (DReeSvligs?oﬁ?\-lumber) BN B Hydraulic Unit
following table) <| ©
- C0.6 C0.6 Manual Operation
N
\'&f* I Cautions / Others
\_O-ring
«JeM P Surface (Included)
= Screw Locator
(mm) X
Model No. LZ0360-MS LZ0400-MS LZ0480-MS LZ0550-MS LZ0650-MS LZ0750-MS LZ0900-MS LZ1050-MS
Corresponding Item LT0360 LT0400 LT0480 LT0550 LT0650 LT0750 LG0900 LG1050 [”oacf;‘:fn'gE;Fi’:“Sion
Model Number LM0360 LM0400 LM0480 LMO0550 LM0650 LM0750 1J0902 LJ1052 "
A 51.5 56.5 62 70 82 93 107 122
B 40 45 51 60 70 80 95 110
C 20 20 27 30 32 37 45 50 W
D 36 40 48 55 65 75 90 105
E 31.5 34 36.5 40 47 53 59.5 67
F 20 22.5 25.5 30 35 40 47.5 55
H 314 34 40 47 55 63 75 88 CMzomE
J 4.5 55 5.5 6.8 6.8 9 1 14 W
L 23.5 26 30 33.5 39.5 45 52.5 60 Tozm
M 5 5 0 0 0 0 0 0
O-ring 1BP5 18P5 1BP5 18P5 18P7 18P7 18P7 1BP7 anifold Block/
Mass kg 0.2 0.2 0.3 0.4 0.5 0.8 1.2 1.7 DZ-R
Notes 1. Material: S45C DZ-C
2. Mounting bolts are not provided. Prepare mounting bolts according to the mounting height using the C dimensions as a reference. DZ-P
3. If thickness other than Cis required, perform additional machining on surface L. Please refer to the drawing. DZ-B
LZ-s
@ Manifold Block for LC/TC L7-5Q
C A0l TNZ-S
K 4R TNZ-5Q
Model No. Indication
L Z O 4 8 O _ M P {hf\@ _ Pressu;;Switch
Size Design No. %O
(Refer‘to (Revision Number) Fm %
following table) < \J é Pressure Gauge
> D N &= 06 0.6 JGA/JGB
Manifold
LNy P Surface \ 2-O-ring X
(Included)
(mm) Coupler Switch
Model No. LZ0400-MP | LZ0480-MP LZ0550-MP LZ0650-MP LZ0750-MP LZ0900-MP PS
Corresponding Item LC0402 LC0482 LC0552 LC0652 LC0752 LC0902
Model Number TC0402 TC0482 TC0552 TC0652 TC0752 G-Thread Fitting
A 20 27 30 32 37 45
B 56.5 62 70 82 93 107
C 45 51 60 70 80 95
D 40 48 55 65 75 90
H 34 36.5 40 47 53 59.5
J 22.5 25.5 30 35 40 47.5
K 34 40 47 55 63 75
Nx 26 30 335 39.5 45 52.5
Ny 5 0 0 0 0 0
R 5.5 5.5 6.8 6.8 9 11
Yx 25 28 31 37 42,5 50
Yy 8 1 13 14 15 15
O-ring 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7
Mass kg 0.2 0.3 0.4 0.5 0.8 1.2

Notes

1. Material : S45C

2. Mounting bolts are not provided. Prepare mounting bolts according to the mounting height using the A dimensions as a reference.
3. If thickness other than A is required, perform additional machining on surface P. Please refer to the drawing.

1026



1061

Company Profile

Sales Offices

Sales Offices across the World

Harmony in Innovation

Japan

Overseas Sales

TEL. +81-78-991-5162 FAX.+81-78-991-8787

KOSMEK LTD. 1-5, 2-chome, Murotani, Nishi-ku, Kobe-city, Hyogo, Japan 651-2241

T651-2241 EER#FHAXER2TEI1ESS

USA

KOSMEK (USA) LTD.

TEL. +1-630-241-3465 FAX. +1-630-241-3834

1441 Branding Avenue, Suite 110, Downers Grove, IL 60515 USA

China TEL.+86-21-54253000 FAX.+86-21-54253709

KOSMEK' (CHINA) LTD. 21/F, Orient International Technology Building, No.58, Xiangchen Rd, Pudong Shanghai 200122., P.R.China
FUR(LBHABRAT] FRIE LB R X R 58 S % A ERRAHEAE21F 2 200122

Thailand

Thailand Representative Office

TEL. +66-2-715-3450 FAX. +66-2-715-3453

67 Soi 58, RAMA 9 Rd., Suanluang, Suanluang, Bangkok 10250, Thailand

Taiwan
(Taiwan Exclusive Distributor)

Full Life Trading Co., Ltd.

TEL. +886-2-82261860  FAX. +886-2-82261890

16F-4,No.2, Jian Ba Rd., Zhonghe District, New Taipei City Taiwan 23511

BEEZERAT BEFACHRMEEN\BE 23R 16F-4 (REMHAIRES)

Phiippines @ e TEL.+63-2-310-7286 FAX. +63-2-310-7286

G.E.T. Ing, Phil. Victoria Wave Special Economic Zone Mt. Apo Building, Brgy. 186, North Caloocan City, Metro Manila, Philippines 1427
Europe TEL. +43-463-287587-10 FAX. +43-463-287587-20

(Europe Exclusive Distributor)

KOS-MECH GmbH

Schleppeplatz 2 9020 Klagenfurt Austria

Indonesia
(Indonesia Exclusive Distributor)

P.T PANDU HYDRO PNEUMATICS

TEL. +62-21-5818632 FAX. +62-21-5814857

Ruko Green Garden Blok Z-TI No.51 Rt.005 Rw.008 Kedoya Utara-Kebon Jeruk Jakarta Barat 11520 Indonesia

Sales Offices in Japan

Head Office
Osaka Sales Office
Overseas Sales

TEL.078-991-5115 FAX.078-991-8787
T651-2241 EEBHPEHAREAR2T B1ESS

TEL.048-652-8839 FAX.048-652-8828
Tokyo Sales Office

T331-0815 BERE WML AMET4T 5815

TEL.0566-74-8778 FAX.0566-74-8808
Nagoya Sales Office

T446-0076 BHMRRIHEER2T B 103EH

TEL.092-433-0424 FAX.092-433-0426
Fukuoka Sales Office

T812-0006 ERRERHESX E2H1T B8-10-101




Global Network

® Overseas Affiliates and Sales Offices
@® Distributors

® Europe
=" — — — /" 1
| %, . U.S.A.®
I. o .. |
I g Asia | °
'@ o ® I Mexico
[ ° [
b o _. _____ -l
® Brazil
(]
Australia
Asia Detailed Map
[ ]
[
[ ]
Korea
[ ]
o
. ° Japan
° China ®¢°®
[ J
: ° ® Taiwan
India
. -
Thailand ® Philippines
[ [}
Malaysia
® Singapore
o
Indonesia
Harmony in Innovation
@ FOR FURTHER INFORMATION ON UNLISTED SPECIFICATIONS AND SIZES, PLEASE CALL US. JOA-QMA10823

@ SPECIFICATIONS IN THIS CATALOG ARE SUBJECT TO CHANGE WITHOUT NOTICE. KOSMEK HEAD OFCE

:

‘-E

AB
CMO009



	Hydraulic Swing Clamp Digest
	LHA_Index
	Cross Section
	Model No. Indication
	Specifications
	Clamping Force Curve
	Allowable Swing Time Graph
	External Dimensions (Standard)
	External Dimensions （LHA-D）
	External Dimensions （LHA-M）
	External Dimensions （LHA-N）
	External Dimensions （LHA-F）
	External Dimensions （LHA-P）
	External Dimensions （LHA-Q）(1/2)
	External Dimensions （LHA-Q）(2/2)
	External Dimensions （LHA-Y）
	Air Sensing Option
	Swing Lever Design Dimensions
	Accessory (Lever)
	Cautions (Hydraulic Swing Clamp)
	Cautions (Common)
	Accessory (Control Valve)
	Accessory (Manifold Block)
	Company Profile



